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The following table shows the percentage (%) distribution of viewers of JIO TV channel in five
different towns (A, B, C, D and E) alongwith the number of viewers who subscribed the channel
among them in the year 2023. Number of viewers in the town E is 1200. Based on the data in the

table, answer the questions that follow.

Town-wise Details of Channel Viewers
Town|Percentage Distribution of Channel Viewers [Number of Viewers who subscribed for the Channel
LA 2% 440
B 13% 500
C 28%% 280
D |23% 700
E 209%% 360

Note: For each town, number of channel viewers 1s the sum of number of viewers who subscribed
tor the channel and the number of viewers who did not subscribe for the channel.

Sub questions

Question Number : 1 Question Id : 34212312374 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

If the number of male unsubscribed viewers in Town-D is

200
3

% more than that of female

unsubscribed viewers, then what is the ratio of number of male unsubscribed viewers in Town-D
to the number of unsubscribed viewers in Town-A and Town-C together?

123333
2.25:54
3. 759
4.2:3

Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 34212312375 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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If P is the total number of unsubscribed viewers in Town-B and Town-C together, and Q is the
number of subscribed viewers in Town-E, then Q is % less than P.

1.6

h

(]

. 80

3.60

4.70

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

325
i

If out of the number of viewers from Town-C, == are female and E of the number of female

viewers are unsubscribed viewers. then the number of unsubscribed male viewers from Town-C
IS.

1. 340

-2

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the difference between the number of unsubscribed viewers and subscribed viewers,
taking all the towns together?

1.320

(]

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If P is the total number of unsubscribed viewers in Town- B and Town-C together. and Q is the
number of unsubscribed viewers in town-E, then Q is % of P.

1. 60

]

.70
3. 80

4.75

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312373 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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g aifereT | @8 fafi= 7RI (A, B, ¢, D3R E) H 2023 H 57211 (710) 71 91 971d & G2l &
UTIRId (%) TaaR0T 3R 39 d9d & UTgd aRid| & Y21 G2Ts s o | TR E H a=id! &f J
1200 g | dIfeid § Wed STel & YR WR, 31 U 7TV YUYl & IR SIIU:

T X! P (a0
TR GRd! @1 Ud=d (G0l [o-d & T8® GRd] &I S|
A [12% 130
B 5% 500
C |28% 880
D 5% 700
E 0% 360

feuufl: Ud® TR & forg, Icl o=l B e 39 I & D GRD! DI WA 3R I
GRId] &I GBI 1N g Sl 39 d-d & g ol g |

Sub questions

Question Number : 1 Question Id : 34212312374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If¢ TR D H T8 TY (D] BT I, S AED el €. 1 Al a=iep! bl IRATH 22,

4 ¢, S U8 -Tel 6. Al R D H UEH A gHaTd U G| & W &I TR A 3R TR
¢ H e ¢! & e 9 giHdTd GXd! Bl U1 U 3urd fhd-1 g2

L2553

2.25:54

3. 759

4.2:3
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212312375 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gf¢ IR B 3R 'R ¢ DI {did 981 & Ud cRidh] &l o Y= P ¢ IR TR EH U8H
CUHI DI YBIQe, dPUQ % PHGI

1.6

L1

I

. 80
3.60

4.70
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212312376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Erﬁ.*w-cﬁ?a?eﬁaﬂf—i@rﬁﬁﬁﬁ%n%?mi%ﬁ?ﬂ%ﬁ@hﬁﬁmﬁﬁ%é‘%ﬁ
qIed Aol o, dl TR - C Y UIgD 4 9 GRD| D TSA] ol '

1. 340

B

. 360

3. 380

4. 420

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212312377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gt TRl B THTER TIgd 1 94 aRid! 3R Iied aUD| & Wl & did BT 3R fhd-r g2

1.320

2

. 240
3. 340

4. 300

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212312378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g AR - B 3R TR - ¢ &l @ d#ﬁﬂ[ﬁd}qﬂlﬂcﬂﬁ qﬂm“fﬁg_m TP g 3R AN -
E U UEH A §-dTd adh] HI WA Q g, A P HIQ %G|

1. 60

I

.79
3. 80

4. 75
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123487
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212312379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The impaired memory for events occuring before the onset of amnesia is called as:-

1. Phonological loop
2. Retrograde amnesia
3. Anterograde amnesia

4. Visuospatial sketchpad

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212312379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiy (THARADN & RY g4 U Yd "fcd g1 & fofu &t gdl ¥fd Hedidl 6 -
1. WS

2. Uy Wiy (TR

3. TGN Wiaag (AR
4. faSleaRme Wats

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What of the following aspects does not pertain to delibrate practice of learners?

1. The task is too easy or too hard

t2

. The learner is given informative feed back about his/her performance
3. The learner has adequate chances to repeat the task

4. The learner has the opportunity to correct his/her errors
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Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212312380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafaRad @ ¥ SH-41 ugq el & giaaria snarg # 981 o g2
1. Ig B yaTd S 3Hydl 9gd Hid g |
2. TRt i 3P e & IR H adS Bisdd [Gg1 T g
3. Tremalf & U 1 Bl QIR & Wit SR gl
4. TR7emdt & urg ool Ffeal &l g8 HIH & HaE T

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Online Softwares/Tools Application
A | Trello 1. | Managing and analvzing social media campaigns
; Managing and recording, fun built-in camera recording add effects and
B. |Hootsuite II. ;
share in the groups
GitHub : ] .
C. i II1. | Managing group projects and tasks
D. |Flipgrid IV. | Managing and writing coding assignments

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-1II, D-1
3. Al B-1, C-IV, D-1I

4. A-1, B-11, C-III, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212312381 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I 1

(THATET iy / 231%
A |femt L | i i figH! & vdyd ud faRey &A1
R | e 51 SR RSl @1 e d RS aem ok 5
3! Bl Slle®m? 34 g H Il &l
fireed Taraed 11 |99 ufareHist| ud &l ol gag= @l
D. |Teufirs V. | BIfET FoaeEl &1 ey ud oa-
4T faU U fad el § 9 981 3R &l 994 Diflu:

1. A-IV, B-111, C-1I, D-1

I

3. A-III, B-1, C-1V, D-I1

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

.A-IIL B-1V, C-11, D-1

Question Number : 9 Question Id : 34212312382 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following channels of Swayam Prabha are under IGNOU, New Delhi?

A. Channel 4
B. Channel 7
C. Channel 15
D. Channel 12
E. Channel 20

Choose the correct answer from the options given below:

1. A and E only

b2

.C and D only
3.B. C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212312382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafdfRad 9 9 syl & 1Y d4d =3 [doedl fud 29 & sidiid g2
A. 00 4
B. d9d 7
C. 994 15
D. 994 12
E. d4d 20

1 feu U fas ettt # 9 F1 IR &1 99 DI
1. hdcd A 3R E
2.Hdd C 3R D
3.Hdd B, C 3RE
4. HId A, B 3R D

Options :
1.1
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2.2
3.3
4.4

Question Number : 10 Question Id : 34212312383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be used as LMS to create and manage course content?

A. Moodle
B. Zoom

C. Edmodo
D. Canvas
E. Strawpoll

Choose the correct answer from the options given below:

1. B, D and E only

B

A, Cand D only

LFE]

.B, C and E only

4. A.Band D only

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212312383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fraferad @ ¥ fo-a1 urea=gl &f favgasd & Yo 3R Ut & foll Ud. T, 0q. & = 1
T fhdl &I Hehal g2

A Had
B. 9H
C. USHIS]
D. Hd1g
E. &UId

A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1. Hdd B, D 3R E

2. HAA A, C 3R D
3. Hdd B, C 3ARE
4. %dd A, B 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, which of the following percentage of
similarity in the thesis would result in the cancellation of a student's registration in the
programme he/she is registered in?

1. 42%

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212312384 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Yifed 9’ & Ydiy d fayfqeerd sFeM smanT (goiid) fafFad 2018 & YR 2y gdy o
fgfeRad ® U fod ufd=rd gHHEd Urs S W fdbdl B &1 Uoiihrul 39 UiUH 9 IE ¢
ST, S U 98 Usiied o2

1. 42%

-2
A
T
=}
a\

4.61%
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have least bias?

1. Snowball sampling

f-2

. Simple random sampling
3. Convenience sampling

4. Purposive sampling

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212312385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafafad 7 9 &9 YR & Ufdegd # AdH gaiig g ST JH1aHT gidl ©:
- hgd Ufd=a (@idrd Uid=a)

YR gTefyd Ufd=d

- gfayrsH s ufdagd

4. QU ufdaa-

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 13 Question Id : 34212312386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements regarding survey research.

A. A closed ended question contains a set of answers that a respondent chooses

B. Self-Deception Positivity is a from of social desirability bias

C. Impression Management is a form of social desirability bias

D. In key informant sampling, a researcher uses a member of the population of interest to
actively recruit others

Choose the correct answer from the options given below:

l.A. Band C only
2.B. C and D only
3. A.Band D only

4. A. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212312386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA&fuT YU & Gdy T Tl YAl Hl UgdH HIfe:

A. 3 TR a1 Uy | SRl &1 U< gidl g o SR a-aral g1 g |

B. 3TH-dd4 YHRIHAD I, YT dig-1adl Iaiig 1 FJ 3l

C. YHTd UseH, Yol qidg-1gdl Jaiig &1 &4 ¢

D. YA Y Yfcragd 1 Uh Ul Eid B S8 & U Yo ST ST Gl
DI Yl B & [T HIAT 8|

- fqu ¢ fgdett H# 4 FoT IR &l 99 DI
1. Had A, B AR C
2. $HIAB. C 3R D
3. $had A, B3R D
4. Had A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212312387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following statistical measures in increasing order

A 37ih percentile
B. first quartile
C. median

D. third decile

Choose the correct answer from the options given below:
1 B2, B
2.B.D.A.C
3B, C.AD

4.C,B, D, A

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 17/188
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3.3
4.4

Question Number : 14 Question Id : 34212312387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeRad OiRers 1 AUl &1 d6d $H H ogaid Dif|

A. 37 91 IdHS
B. Ugdl Igdd
C. HIfED]

D. AR GRHS

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1.A,B,C,D

2.B,D,A,C
3.B,C;A, D

4.C, B, D, A

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT
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List I List IT
(n=number of trials p=probability of success)|(Variance of Binomial Distribution)
A ln=7.p=03 L |144
B |n=3p=04 I |2.00
C. |[n=8p=03 Im. 11.20
D |n=6p=06 V. | 147

Choose the correct answer from the options given below:

1. A-1, B-II, C-IIL, D-IV

2. A-II B-III, C-IV, D-1

3. AL B-1V, C-I, D-1I

4. A-IV, B-1I1, C-1I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212312388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

.. . ik

o= T 3 Ry | (50 [0 BT TR

A |n=7p=03 I 144
B. |n=5p=04 II. 12.00
C. In=8.p=053 I | 1.20
D. |n=6.p=05 IV, [ 1.47

il [ -

A Teu TU [dd el | 9 gt 3R &1 994 HITU:

1. A-I, B-II, C-III, D-IV
2. A-11, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-III. C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the post-information age, information is highly.

|. Homogeneous

t2

. Communitarian
3. Personalised

4. Impersonal

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212312389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TR - G g 1 YA A
R EIRIEN

HEEE §
4. 3dUfad® o

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 17 Question Id : 34212312390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an information society, even nuclear families have the characteristic of technological

1. Separation

t-2

. Mediation
3. Constriction

4. Passivity

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212312390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g%%am&ninﬁﬂwﬁmwﬁa@raﬁiﬁﬁaﬁfﬁaﬂmm GCAREELG!
|

1. G
2. AR

3. P
4. HHUTA

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A hot medium has the features of:

A. Pre-supposition of interaction

B. Providing large amounts of information
C. Little effort needed for interpretation
D. Less scope for participation

E. Immediate feedback

Choose the correct answer from the options given below:

1. A B, Conly

[

. C, D, Eonly
3.A,C,Donly

4.B,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212312391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FrafaRad mrem o1 Fefafad ot gid 8

A. TRTR® T 1 qaigaH

B. 931 A1 H AT 3UCT DRG]

C. ARAT (AT B & [ BT T 64 DI ahdl gldl ©
D. YTl & folt o1 egw

E. dichIidd Uidgfe

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. Bdd C.D.E
3. HAAd A, C.D
4. BAd B. C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212312392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct chronological sequence of the following communication devices:

A. Blu-ray Disc

B. Universal media Disc
C. Digital Compact Disc
D.Hi8

E. Digital Audio Tape

Choose the correct answer from the options given below:
L.ED C B A
2D:CRAE
3B AED

4.B,AE D, C

Options :
1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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2.2
3.3
4.4

Question Number : 19 Question Id : 34212312392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YaR U 9 FafaRad Ul & dicdd & Yol hd &l g S|

A X 3w
B. gi-qyd Hifsar fewn

+id fGu T fasedl § 9 @@t 39 &1 994 Hifeu:
I.E.D,C.B. A
2.D,C,B,A,E
3.C,B.AE,D
4.B,AE,D,C
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 34212312393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Medium) (Characteristic)
A |Radio I. | Asvnchronous
B. |Primt II. |High intensity of information
C. |Hot medium III. |Interactivity
D |Internet IV | Only Acoustic medium

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1I, B-III, C-1V, D-1
3. AL B-TV, C-1. D-IT

4. A-IV, B-1, C-II, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212312393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I
= | &
A | L |sgsoifts
B. |qzU II. | =T &l 3= Mol
C. | emhHE® g | 1L | IRERS haradd
D. |Fee V. |dae @f-ie arem

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
I. A-I, B-II, C-IIL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. AL B-IV, C-I, D-II

4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212312394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction, the
result obtained is 492 Find the fraction.

n
l.3—

Lad

ta

W | —

i | b

4.41
3
Options :
1.1

2.2

3.3
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4.4

Question Number : 21 Question Id : 34212312394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfe fpd fird o1 34! 3 Y 707 {61 S 3R 34 916 390! 341 & Hohd Y fauord
ﬁmwa“rwwﬁwmm%@maamﬂmﬁml

A
1.3=

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of questions mark (?) in the series given below.
4, 10, 20, 34,52, 74,7

1. 98

I

102
3.97

4. 100

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212312395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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a1 1S gaar § Uy g & RIF W SR 1 Si-dlel Y J1d i |

4, 10, 20, 34,52, 74,7

1. 98

2

102

3.97

4. 100
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312396 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-TT

LISTI LISTII
(Statement) (Result)
A | Average of the squares of first 10 natural numbers| 1. |13
B. | Average of first 5 multiplies of 5 II. |45
C. | Average of first 25 natural numbers III. | 38.5
D. | Average of cubes of first 3 natural numbers IV. |15

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-1l, B-1II, C-1V, D-1
3. A-1IV, B-1, C-II, D-III

4. A-III, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212312396 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

I I

o o,

YA 10 Widids Seeff dar o1 afiad| 1|13
5 @ TYH 5 0TS Bl 34d I |45
UYH 25 Wi RT3 BT Sed I |385
Ty 5 Uihfdd deafl & u @1 gd | IV |15

AT U U fadhedl § U It 3R &1 994 DIoIU:

1. A-I, B-II, C-III, D-IV

olo|w|x

2. A-II, B-IIL, C-IV, D-1
3. A-IV, B-1, C-II, D-III

4. A-III, B-1V, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212312397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain code language:

*“Kashmiri Cuisines are good” is coded as: * KI CI FI GI”

*“You like Kashmiri Cuisines™ is coded as: “AI LI KI CI”

“Indians like Punjabi Cuisines™ is coded as: "MI LI BI CI"

“Punjabi Cuisines are best™ is coded as: "BI CI FI TI"

How the words *you’, ‘Indians’ and' best' are coded in this language.

1. LI, KI and Al

f2

.KI, MI and CI

3.AI MIand TI

4. AL, MI and CI

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 29/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action
3.3
4.4

Question Number : 24 Question Id : 34212312397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fhd e YW T:-

“Kashmiri cuisines are good” @I KI CIFI GI b ¥ H CTEFATRIREIR]) S
“you like Kashmiri Cuisines” @I AI LIKI CI® U H dddg ERIEIGIE
“Indians like Punjabi Cuisines” MILI BI CIh U I podg bl EIGI
“Punjabi Cuisines are best™ BI CI FI TI &Y Pldeg ERIEIGIE

o4 HTyT H ‘you', ‘Indians’ AR “best” Dl Y UHR Pldg ICRRIE| %i’
A1d U TIQ fddpedl H ¥ #5T SR B 79 DIfSIE:

1. LL KI 3R Al

2. KL MI 3R cI
3. AL MI 3R TI

4. AL MI 3R CI

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212312398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are some Cows and Ducks in a park. The total number of heads of Cows and Ducks
together is 60. However, the total number legs of the cows and ducks together is 180. Find the

number of cows and ducks in the park, respectively.

1. 30, 30

2

32,28

3.28 32

4. 24, 36
Options :
1.1
2.2
3.3
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4.4

Question Number : 25 Question Id : 34212312398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uh Uid H $& Y 3R S §. 71 3R §wal & (R &1 ol feidh: W& 60 g1 qyid,
T 3R dodl D1 Dol THThR T 1 AT 180 1 UTdh H 71T 3R Seival &bl TeT hus:
J1d DIfTU|

L.

[

4.

30,

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

30

g28.digialm.com/CAE/viewHtmIPDFAction.action

*This piece of Chalk has mass, therefore, the atoms that compose this piece of chalk have mass.”
Which of the following options is true of the above argument?

1. Fallacy of composition 1s committed here

2. Slippery slope is nvolved here

3. Hasty Generalization is committed here

4. It 1s a non-fallacious argument

Options :

1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212312399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i (AN & TH hs U ST g, ST dlh & 39 Sho BT AT 6 dle] TRHTILS]
o ot goqa gidl & Suddd gfdd & Y&y ¥ Fafafad @ 9 s fde e g g2

1. I8l Uefd Siv fhar TR 5|
2. gel Thyed gad ¢a Hdfigd g1
3. gg G=Rd IrAISHI 6l T g |

4. 98 U TR - Ay gfad ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true?

A. A valid argument may have false premises and a true conclusion
B. An invalid argument may have false premises and a true conclusion
C. An invalid argument may have true premises and a false conclusion
D. A valid argument may have true premises and a false conclusion

Choose the correct answer from the options given below:

1.AB,C.D

t-2

. B and C only
3. Aand D only

4. A. B and C only
Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212312400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAafRad 7 ¥ ®H-0 &Y Td o2

A. T 94 g § i 3R 3R U U by gl Thal g
B. U 3{d% gfqd O e R r 3R Uh 9 5y gl Ghdi gl
C. U 33 gfad T I ATUTRGR 37R Ueh {71247 F5h gl Yhdl ¢ |
D. Ut 94 Gfdd ¥ Y YR 3R U {7721 F5H gl Ihdl gl

A fGu U A edl § O 8T 3R &1 904 DifoiL:

1.A,B,C,D

) FHIAB AR C
3. HddA AR D
4. Hadd A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212312401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing denotation.

A. Physics

B. Natural Sciences
C. Sciences

D. Nuclear Physics

Choose the correct answer from the options given below:
1.C.B,A D
2.B.C,A.D
3.D.AB.C

4.B.C.D A
Options :
1.1
2.2
3.3
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4.4

Question Number : 28 Question Id : 34212312401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAeIRad & ged 9dd & HH H FaRRUd DIfI:
A, HIfd® IR
B. UTdidd faaH
c. fagm
D. AIHS I HITdH AR
< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

1. C.BA D

[

B.C.AD

3:PD.AB;C

4.B.C.D. A

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
{Type of informal Fallacy) (Reason)
A |False cause 1. |Relevance
B. | Appeal to Emotion II. | Ambiguity
C. | Complex Question III. | Defective Induction
D. |Fallacy of Composition | IV, |Presumption

Choose the correct answer from the options given below:
1. A-IV. B-II, C-1I1, D-I
2. A-IIL B-1, C-IV, D-1I
3. A-IIL, B-IV, C-1, D-II

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212312402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 35/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifoy

(&Hﬁﬂﬁﬁ:ﬁ;ﬁaﬂm (ﬂ%
A |fa eRo 1 |l
B. | 914G 3FI8 . | 3Rgpdl
c. |sfeamy 1L | GIeqUi 3
D. |Wefd g IV. | qaigaH

I feu 71U fash el § 9 T8t IR $I1 994 HIfIT:
1. A-IV, B-IL, C-III, D-I
2. AL B-1, C-IV, D-II
3. AL B-IV, C-I, D-II

4. A-I1, B-1, C-1IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212312403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic which of the following statements is fallacious because the middle
term instead of proving the existence of the major term in the minor term., it proves its non-
existence therein.

1. Sound is eternal because it is produced

]

. The hill has fire because it 15 knowable
3. Sound 1s eternal because it 1s audible

4. All things are non-eternal because thev are knowable

Options :
1.1
2.2
3.3
4.4
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Question Number : 30 Question Id : 34212312403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A A & YR FEfaRad § ¥ fdd Sy o dhaly ¢ difd T Ug, 1o Ue § gre ug &
3 Dl lfdd DI & Iol1d, T8 IUH 34D AT ci-dl I Tlied Hdl g

L. €17 21y ¢ 1 g Idiiad &l Sl B
2. UgTSI H 3N § i 98 34 B

3. & A1 g D T8 4 ¢

4. 9t - FEIE TR-=NYd € Fifh d I ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A keylogger. short for keystroke logger, is a type of that monitors and records what
you type on your computer or mobile phone.

1. Worm

2

. Spyware
3. Virus

4. Trojan Horse

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212312404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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@I - ¥l AR & {elU Tigd Usq, Dl - AR Th UDHR DI © Sl 3MUd gRT 30
$HUIeR YT HIEd Bl TR 2130 &I ol Te! il &1 TR Hd1 ¢ 9 39 Rdbre gl

L. drH

2. TR
3. digxd
4. TIoH gIY

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched?

1. XML- Extensible Markup Language

t-2

. WWW- World Wide Web
3. VLSI- Very Large Scale Integration

4. SMS- Short Message Software

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212312405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uRquif 9 34 fa¥dR &1 % # @ D181 g gAferd 181 €2
. U A U - TeRie st AT 31 cfiast

3% S S - dcs dI2s dd

1 T T 37 - 48 arSl Whel SCUTH

4. 7Y TH UY - 1C A HIEdTR

Options :
1.1
2.2
3.3
4.4

—

g

L8]

Question Number : 33 Question Id : 34212312406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of ICT terms A-D that correctly fills the blanks in the following paragraph:
is permanent memory that is used to store instructions that are needed to start the

computer. is fast temporary memory that is used to store data and applications that are

currently in use. carries out processing and turns data into information. The

1s used to plug all other components into the computer system.

A. Motherboard
B. RAM
C.CPU
D. ROM

Choose the correct answer from the options given below:
1D B A C
2.AD,C.B
3.C,A.B.D

4.D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212312406 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

313 4l &1 Uel A-D & 39 HH & UgdH ST Sl (9 T2 & Rad R 1 Ugl YR 4R
_ =yEigfa gl g o uanT 34 SHel & W%WWW%W
DU Bl HRY T & [0 HEAWHATgdigl 3T Wi il g ford
3 STeT d TN BT W%mam%ﬁﬂﬁaﬁﬂﬁﬁ CRIEIREEEE
JhH0 63l ¢ AR S1el DI Y1 § dad adl B &1 UG 30 gt
HCHI Bl HWR YoITell § Siis & foe fbar S g

A. HERdlS

B. 3R TUH
c. g g

D. 3R 3 TH
A fqu U fameul § 9 98T 3R 1 994 DI

1.D.B.A,C

2.A.D,C,B
3.C,A,B,D

4.D.B.C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following software titles are examples of operating system?

A. MS-Word

B. Linux

C. MS-PowerPoint
D. Adobe Photoshop
E. Android

Choose the correct answer from the options given below:

I.A. Cand D only
2.A.B.CandD only
3.B and E only

4. B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212312407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 U ¥ 1Y 9ieda? i UdIa- YUl & 3alg 0l g2

A UATYdS
B. felHag

C. UH Y UTdR W@ige
D. US4 Hhiel2y

E. U39S
Hid fqu U fddetl #§ 9 Fg1 IR DI 949 iU
1.hdd A, C 3R D
2. Hdd A, B, C 3R D
3. Hdd B AR E
4. $dd B, D3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 35 Question Id : 34212312408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI
LISTII
E omipnter {(Description)
Network) P
A | Flat Network I. |Describes today's worldwide connection of networks
Describes a network that lies completely inside a trusted area of a network
B. |Extranet I . : ) i =i
and 1s under the security control of system and network administrators
o | i m Describes a network that avoids packet-looping issues, through an architecture
that does not have layers
. |Describes a network that is an extension of a selected portion of a company's
D |Internet vV N
Intranet to external partners

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIT, B-TIV, C-I1, D-I
3. AL B-1, C-IIT, D-IV

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212312408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

a1 gt o
(PUEX AeTH) (ferarom)
A |Uce dcad I |3 & fayerdt Sead & Saie &1 gui- ddl 8l

- U Acgd &1 9= BT & ol Quidar Aead & fausd 87 & iz 3R gomeh
& [dige U g Yead weres! & e Raa g erar 21

c |e=re - ﬂﬁﬁeaai?%alﬂﬁ Bl § Sl URde - HeeT & Aread ¥ Udhe-qfth1 qel 1

= | @ UY Jeqd &1 9Uf- BT § &l P & 52 & Tafd 32 $1 9l
JEESE | yrfieRi &1 Suaw gld 8|

A f6u U A edl § U Jot IR 1 I994 HIIU;

1. A-IV, B-1II, C-I, D-II

B

. A-IIL, B-IV, C-II, D-1
3. A-IL, B-L, C-IIL, D-IV

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212312409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as the heart of sewage treatment?

l. Primary treatment

t-2

. Secondary treatment
3. Tertiary treatment

4. Advanced treatment
Options :
1.1
2.2
3.3
4.4
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Question Number : 36 Question Id : 34212312409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad o O {64 U &1 STaad e (a9 dietie) & g6d & U 4 \HI Sidl g2
. UTY Qe

2. fgdias® eH
3. Al e

4. 39d eE

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about class I and class II ozone depleting substances?

A. Ozone depleting potential of class-I substances are far more than class II
B. Ozone depleting potential of class II substances are far more than class I
C. All chlorofluoro carbons belong to class IT ozone depleting substances
D. HCFC-21 belongs to class IT ozone depleting substance

E. Class-I contains fully halogenated gases

Choose the correct answer from the options given below:

1. A. D and E only
2.B, C and E only
3.A.Cand D only

4. C,D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212312410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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7% 7 U & 971 Ud 11 3TN &fividh Jedl & aR H 9 82

A. T-1 Tcdl BT IS &ivres U1 d7-11 B Joi-1 § 9gd 31fe® o
B. T7-11 dcdl D1 SIS &0 YA 97i-1 b1 gof-T1 § dgd 319 3
c. G FARIGRI HIe a¥-11 3l i dd 9 Yalferd gid g1

D. U 9 UG Tl - 21 T9.11 357 v ded U Yafed g

E. 9.1 5 quid: gaiioHcs T gIdi |

i feu T fahedl § 9 a1 IR B 99 DIIT;
|.$ddA.DUFE

2. HAdB.CTUdE
3. FHdAA.CUE D
4. HAAC. DU E

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212312411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct sequence of following drinking water treatment processes from initial to
final?

A. Filtration

B. Disinfection

C. Gravity settlement of large particles
D. Flocculation

Choose the correct answer from the options given below:
1.ABCD
2.8 B, B.C
3.C.D.A.B

4.C,D,B,A

Options :
1.1
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2.2
3.3
4.4

Question Number : 38 Question Id : 34212312411 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁlﬁﬁf@ﬁﬁ%ﬂﬁﬁﬂﬂmﬁﬁﬁaﬁmmﬁﬂﬁwwm?

s Gl\'j Il DI R=od AU

D. 3UH (TFAIRIIRH)
HId feu U f9hedl § 9 8T IR &1 994 DI

1. A, B, C.D

2.8, BB
32C.D.AB

4.C,D.B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212312412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Doha amendment 1s an amendment to.

1. Montreal Protocol
2. Kyoto Protocol
3. Stockholm Convention

4. Rio Summit
Options :
1.1
2.2
3.3
4.4
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Question Number : 39 Question Id : 34212312412 Question Type : MCQ Option Shuffling : No

g28.digialm.com/CAE/viewHtmIPDFAction.action

Correct Marks : 2 Wrong Marks : 0
<IgT YRMEH, SHHT U Y2 ©:
1. Aiiegd Uieidid
2. 1T Uieldid
3. Widhgied grleH
4. T R v e

Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212312413 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
{Sustainable Development Goal (SDG) (SDG No)
A | Clinate action I |sDG 12
B. |Life on Land II. |SDG 13
C. |Fesponsible consumption and production | III. | 5DG 14
D. |Life below water IV. | SDG 15

Choose the correct answer from the options given below:

1. A-1, B-III, C-II, D-IV

2. A-III, B-1, C-1V, D-II

3. AL B-1IV, C-III, D-1

4. A-1I, B-IV, C-1, D-IIT

Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212312413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e BHifoy

I I
(Umﬁuﬁm?ir&m@ﬁhﬁ) mﬂé@m
A |Saarg febar I |THshl 12
B. (YA R EET 11 (Thaisl 13
C. | 3Rard SUHRT Ud 316 | 111 |UgSiell 14
D. | 5@ & i Sflaq IV, |TEEt 15

i feu 71U fad el § 9 T8t STk &1 994 DIfIT:
1. A-I, B-IIL, C-II, D-IV
2. AL B-1, C-IV, D-II
3. A-IL B-IV, C-IIL, D-I

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212312414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The New Education Policy, 2020 envisages making all learners:

1. Social volunteers

t2

. Efficient administrators
3. True global citizens

4. Spiritual persons

Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212312414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s e =ifd, 2020 ¥ Wt fRreniegl of Hgfearad 94 & URb - 1 7S ¢
1. GHEISS WaUad (dTeifedr)

2. B UMD
3. AR(dD di%d ARG
4. SeTfdS Afad

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kanya Mahavidyalava. an Arva Samaji School, was established in 1896 by:

1. Bhai Veer Singh

t-2

. Agva Kaur
3. Bhai Takht Singh

4. Lala Devraj

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212312415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ST el deTerd AHS AT Whdl & =TG- Y 1896 H HHTRId SAfdd gRI 61 T8 4i:
HIS dR g

SR DR

LTS e g

4, STl GaRTSl

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 43 Question Id : 34212312416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The major recommendations of the Radhakrishnan Commission are:

A. Transfer of urban universities to rural areas

B. Setting up of rural universities

C. Development of research in agriculture, commerce, law, science and technology
D. Making English language as the medium of instruction at all levels of teaching
E. Focus on student's Welfare

Choose the correct answer from the options given below:

1. A, Bonly
2.B,C,Donly
3.C.D.E only

4.B, C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212312416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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RIS SR Bl T SR &

A. 91831 fayfaemerl &1 urHior &t H IR

B. UTHIUT gy faereral &1 9|

C. Pfty, aIfrsy, i, fag SR Ureiffe! & SryH &1 [ |
D. &1 & gyt TRl U 3iUSH HI9T &1 e &1 H1eaH 491
E. B & &l R &H digd S|

- feu U faded! ¥ FpT IR B 90 HIST:
1. ®dd A, B
2. $HddB. C.D
3.$HddC. D, E
4. HIAB. C. E

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212312417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Ancient Texts in chronological order.

A. Rig Veda

B. Lilavati

C. Aryabhativa
D. Arthasastra

Choose the correct answer from the options given below:

1. A,C,D,B

f2

A DC. B
3.B.C,;D, A

4.A,B,D,C

Options :
1.1
2.2
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3.3
4.4

Question Number : 44 Question Id : 34212312417 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead U= 94 &1 SIddhd & 3R Haid il
A PG
B. dicirddl
C. MUY
D. YRR

A fGu U A edl § 9 T 3R &1 994 DifeiL:

1. A,C,D,B

I

A DC. B
3.B,C,D, A

4.A,B,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Works
A |Pingal [. |Lilavati
B. |Panini II. |Chhandasastra
C. | Arvabhatta I11. | Astadhyayi
D. |Bhaskaracharya | IV. | Aryabhativa

Choose the correct answer from the options given below:
1. A-II. B-1V, C-II1, D-I
2. A-IIL, B-IL C-IV, D-1
3. AL B-IIL, C-IV, D-I

4. A-1, B-III, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212312418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
1 g

A |0 L |<fiemadt
B. |qifort II. |@erIRd
C |amug 11 | 3pTeardt
D. |umREE | IV |3yl

1 feu 7T fadh el § 9 T8T IR &1 79 DIfIT;
1. A-IL B-IV, C-IIL, D-I
2. AL B-IL, C-IV, D-I
3. AL B C-IV, D-I

4. A-1, B-III, C-1IV, D-II

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123488
Question Shuffling Allowed : No

Question Id : 34212312419 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follows:

A famine in China from 1958 to 1960 estimated to have killed about twenty-five million people.
The reason why that’s called a political crime-an ideological crime-which was discussed in most
detail by Amartya Sen: it’s part of the work for which he won the Nobel Prize. Sen is an
economist who treated this as an ideological crime for food reasons. He said it wasn’t a matter of
intent: they didn’t intend to kill anybody. It’s just that the ideological instructions were such that
it happened. It was a totalitarian state where no information about what was happening ever got
back to the center. They couldn’t take any action because that’s what happens in a totalitarian
state. So it was a reflection of the totalitarian instructions, a huge massacre that wasn’t intended.
They didn’t intend to kill twenty-five million people, but it was still a major massacre, and it’s
correct to call it one of the major atrocities of the twentieth century, and the worst single
component of the crimes of Communism.

Sub questions
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Question Number : 46 Question Id : 34212312420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What period did the famine in China, described in the passage, occur?

1. 1945 to 1948

I

. 1958 to 1960
3. 1965 to 1968

4. 1972 to 1975
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage, how many people are estimated to have died in the famine in China?

1. 15 mullion

[

. 25 million
3. 35 million

4. 45 million
Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

who discussed the famine in detail and considered it an ideological crime?
1. Karl Marx
2. Amartya Sen
3. Noam Chomsky

4. T. S Eliot
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Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the passage. what was the main reason for which the famine occurred in the
totalitarian state?

1. Intentional government polices

I

. Unpredictable natural disasters
3. Foreign interventions

4. Lack of information reaching the central authorities

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212312424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the passage classify the famine in terms of twentieth-century atrocities?

1. A deliberate genocide

f-2

. A minor event
3. an unavoidable disaster

4. One of the major atrocities

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312419 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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frrafifEa e &1 wryde e ok 39% ae i3 U uat & 3w difvte:

ay 1958 T 1960 A 914 H TS giel T T 25 Taferad €l & IR S &1 34 fdar a1
¢ 1 34 HRUI Y TH AeHlidd URY — Uh ddiRd WY el T ¢, D! 3Fd 4 5
gafftre fawgd o=l 31, T8 301 39 Bid &I YT 8, Forgd o1y Il Fidd IR siar| I
T YRl ¢, TS5 J9fad BRI Y 38 Udh ddIid 3Ry & =9 H AF1| 35iH $el fh
g 1gd & Al g1 4T: d fhdl &l ARAT 981 digd 41 g hdd a1 ¢ fb dd1iey J=1u
24 g ®l Al fb Tg gl /1| =i U GdgAIdD Iy U1, gl il 9fed gl Xl Ul, 3Hd! Yol
<18 Gl db g1 Ugd el 411 d IS BRAls gl B b Hifdh U Gdqdicdds IAd H U]
gIdl o1 29I, I8 Jaudids Y13l &l ufdfd g, g U d3] Y8R U, forgd Ui
SRIGT 8T AT 3ADT 330aT 25 Al arff &1 IR S1a- &1 el o1, iR +f 78 U uga 2y
RYUGR U1, 3R Y &Yl Adlsd] & YIT HAERI H U U, 3R YAl & W1 &1 Uh
dGR UZh Dol Ugl ol

Sub questions

Question Number : 46 Question Id : 34212312420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sugdd T aftid <19 gftfer g safy o afed gamym
1. 1945 T 1948

1958 F 1960

[

3. 1965 U 1968

4.1972 ¥ 1975

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212312421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YU M & SFER = T US gftiar ¥ fda dlvl & AR S &1 301 fhar T ge
1. 15 fAferma

-2
-2
A

4. 45 Taferoq

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212312422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fope dH § US gitiel B faxgd ol 3t 3R 34 U ddRed 3URTe HHED
1. Tl Ty
2. 3
3. [T R

4,91 9. gfeme

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212312423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SUYdd T & IR Y 8 SR Y Ydaqdidid ol H gie IsT U
G WRBR Hifqgt

. 3YATFHT UIp T SMue
fac=l gwem
4. B9 WfUPTRAT 9 Y1 Uga Bl 3fHId

Options :
1.1
2.2
3.3
4.4

—

f-2

L8]

Question Number : 50 Question Id : 34212312424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUad el A4 Tl & AHAER! & Y H gfifel & aiffpd dHed g2
. S-S a1 T/ U RUGR
2. U HH Hel
3. U® 3uivgr fauar
4. A AR 0 9 Uh

Options :

1.1

2.2

3.3

4.4

Defence and Strategic Studies

Section Id : 342123165
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123489
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212312425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is called as Father of Indian Navy?

1. Admiral Pareira

t2

. Chhatrapati Shivaji Maharaj
3. Dadabhai Nauroji

4. Admiral Sir Edward Parry, KCB

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212312425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRATG 181 & S DI Hgalld 62
. TSTARE TR
2. BAUTT Frarsil AgRTS
3. QTG TS RIS
4. USIRA W Usds Ud, Hfl

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Intelligence Bureau (IB) functions as India's internal security agency and is directly under-

1. Ministry of Industry
2. Ministry of Communication
3. Ministry of Home Affairs

4. Ministry of External Affairs

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212312426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T &R (3134l YR 1 SATdRD R&M & ¥U H BRI HIAT ¢ 3R THY TG oo &
Y 3T el

1. ST AT
2. IR HATGY
3. 7[g HATY

4. facr vaTey

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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How many times has Mrs Indira Gandhi been Defense Minister of India?

1

t2

4

. One

. Two

. Three

. Four

Options :

1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212312427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

sftadt ST el fod=T IR 4R B &M 1531 38l

[~

4

e
@
A

cdR

Options :

1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is not a Defence production industry under Department of Defence
Production?

l. Ordnance Factory Board
2. Hindustan Aeronautics Limited
3. Mahindra Aerospace

4. Mishra Dhatu Nigam Limited

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212312428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeiygd o O SI-91 3§ Sdie f[AUNT & idiid U &1 SdrgH SanT g1 g2
1. 349 hadl |18
2. fegedH WHIedy fafies
3. Higgl TRy
4. Ty g ey fafacs

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In June 1947, US Secretary of State George Marshall made his historic offer of:

1. Aid for Africa

t2

. Aid for USSR
3. Aid for China

4. Aid for Europe

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212312429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o[ 1947 H ¥ & Ush e 3H{th W STl ARI = 301 Uidgiid Idld —-ooeve o @I fear:
1. SBIDI DI SR

2. JUHTHIR I Yl
3. 919 ! YgRIdl
4. JRIY ] YRl

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the Defence Minister of Pakistan?

—

. Khawaja Muhammad Asif

t2

. Asif Al Zardari

3. Bilawal Bhutto

4. Yusuf Reza Gillani
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Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212312430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T & o & HAl B 82
1. TS g 3%
2. RT3l SRR
3. fadrad Yel

4. g% AT et

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following strategic thinkers wrote “‘Shedding Shibboleths: India’s Evolving
Strategic Outlook' and refers to the 'strategic thinking deficit' in India?

1. Henry Kisinger
2. Jawaharlal Nehru
3. K. Subrahmanyam

4. W. Mitchell

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212312431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFafaRad JomHId® faara! | § foa AT Reiery: 3fsars gdifedn Eefod e
ferdl 3R g8 HRd H 0HIdd [GaRT & 2HId &I Jafdd Hdl g2

1. BRI fhRioR

2. STl Hg%

3. & YelgIugH
4. &y =i

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ex Desert Night 2021 was bilateral air force exercise by Indian Air Force with which one of the
following countries?

1. UK
2. USA
3. France

4. Russia

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212312432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U - SoIc A13¢ 2021 HRAE 917 941 ST HHicifad 1 U by o= & a1y fgueli argy-
31 T2

1. gb
2. gugU
3. 701

4. 94
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who observed that “every age has its own kind of war™?

1. Carl Von Clausewitz
2. Plato
3. Woodrow Wilson

4. Mahatma Gandhi
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212312433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

On March 17, 2023 International Criminal Court issued arrest warrant against which world leader
for his role in deportation of Ukranian Children?

1. Colonel General Oleksander Syrsky

2. Volodymyr Zelenskyy
3. Vladimir Putin

4. General Valery Aluzhry

Options :

1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212312434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the defence minister when india conducted its first nuclear test?

1. Sardar Baldev Singh
2. Krishna Menon
3. K. C Pant

4. Jagjivan Ram

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212312435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

f-2

Question Number : 62 Question Id : 34212312436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Terror attack on Indian Parliament was carried out on:

1. 23 July 2001

t-2

. 17 January 2002
3. 17 November 2001

4. 13 December 2001
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212312436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.

.23 JdTg 2001
.17 SFaR] 2002
.17 996X 2001

13 fadeT 2001

Options :

1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312437 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Name the present Chief of Naval Staff of India:

1

t-2

. Admiral Dinesh Kumar Tripathi
. Admiral Krishna Swaminathan

. Admiral R Hari Kumar

4. Admiral Karanbir Singh

Options :

1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212312437 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312438 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Who was the Chairman of Kargil Review Committee?

1

t-2

L8]

. Muchkund Dubey
. K. Subrahmanyam

. C. Rajamohan

4. Jaswant Singh

Options :

1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212312438 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the founder of terror organisation ““Jama'at-al-Tawhid-wa-al-Jihad™ (JTT)

1

t-2

. Mullah Omar
. Osama-Bin-Laden

. Abu Musab al -Zarqgaw1

4. Maulana Masood Azar

Options :

1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212312439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIPRI, 2024 Report identified 170 states as importers of major arms between 2019-2023. As per
the Report, the region that received the largest volumes of major arms between 2019-2023 was:

1. Americas
2. Middle- East
3. Africa

4. Asia and Oceania

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212312440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A Jd
3. 3{hIPI

4. U SR Sfyfar
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212312441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIPRI stands for :
1. Secret International Protocol for Regional Integration
2. Strategic Integration Peace Research Institute
3. Stockholm International Peace Research Institute
4. South Asian Institute to Promote Sustainable Research Investments
Options :
1.1
2.2

3.3
4.4

Question Number : 67 Question Id : 34212312441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

f-2

L8]

Question Number : 68 Question Id : 34212312442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per SIPRI, 2024 Report on “Armaments, Disarmament and International Security’.
Which of the following country was the world's second-largest arms importer between 2019-

20237
1. India
2. Pakistan

3. Saudi Arabia

4. Qatar

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212312442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. HRd
2. OifhEdH
3. g3al 3Rd

4. bl
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries are known as World's leading arms exporter, as per SIPRI, 2024
Report?

1. China and Russia
2. USA and France
3. Russia and Isreal

4. USA and Isreal

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212312443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was India's National Security Advisor during Atal Bihari Vajpai's Prime Ministership?

1. I.N Dixit

t-2

. Muchkund Dubey

L8]

. Brajesh Mishra

4. Shiv Shankar Menon
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212312444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 78/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

3fed fagil areiudl & Uit Bid § URd & AP G YAGDHR HI- 42
. T, Eifera
R CE T
3. ol Y
4. 2@ IAHAH
Options :
1.1
2.2

3.3
4.4
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f-2

Question Number : 71 Question Id : 34212312445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Ministry is located at South Block in Delhi?

1. Ministry of Agriculture
2. Ministry of Defence
3. Ministry of Industry

4. Ministry of Education

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212312445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312446 Question Type
Correct Marks : 2 Wrong Marks : 0

“Termites in the Trading System” is authored by:

1

t-2

. Joseph Stiglitz
. Amartya Sen

. Jagdish Bhagwati

4. Susan George

Options :

1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212312446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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: MCQ Option Shuffling : No
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Options :

1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Panchsheel Agreement laid down the principle of:

1

t-2

. Mutual aggression
. Mutual disrespect

. Mutual Non-aggression

4. Mutual interference

Options :

1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212312447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

81/188



8/31/24, 10:24 PM

g28.digialm.com/CAE/viewHtmIPDFAction.action

G2l grsidT (afRad fsid o fFulld sdar e:

f-2

4

R S{Ieh HU

IR fRIER

CIREY AR HU

 RER gWey

Options :

1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The book “Perpetual Peace™ was authored by:

1

t-2

. Kenneth Waltz
. Thueydides

. John Herz

4. Immanuel Kant

Options :

1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212312448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*“War made the State and the State made war” statement was made by:

1

t-2

. Chris Hedges
. Charles Jilly

. Audrey Kurth Cronin

4. Andrew Mack

Options :

1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212312449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 76 Question Id : 34212312450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which US President reopened US relations with China during Cold War era?

l. Richard Nixon

t-2

. Harry S Trueman
3. John F. Kennedy

4. Lyndon B. Johnson

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212312450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Strategic Defence Initiative (SDI) known as Star Wars was proposed by:-

1. George W. Bush

(]

. John F. Kennedy
3. Ronald Reagan

4. Jimmy Carter

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212312451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following explains the concept of *“Gunboat Diplomacy’?

1. Foreign policy through Western culture

(]

. Disarmament

P8

. Foreign policy through populism

4. Foreign policy aims pursued through military force rather than negotiation

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212312452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 79 Question Id : 34212312453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In 2014, ISIS proclaimed a Caliphate with its Capital in:

1. Baghdad

t-2

. Kabul

L8]

. Raqqga

4. Lahore
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212312453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312454 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

In 1910, Max Muller was Charge d' Affaires in Peking, representing which country?

1

t-2

. Germany
. United States of America

. Great Britain

4. France

Options :

1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212312454 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

“On the Law of War and Peace™ (1625) is the book by:

1

t-2

L8]

. I.F.C Fuller
. Carl Von Clausewitz

. Hugo Grotius

4. Che Guevara

Options :

1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212312455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

L8]

Question Number : 82 Question Id : 34212312456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Convention against “Torture and Other Cruel, Inhuman or Degrading Treatment or Punishment™
entered into force in:

1. 1979

2

. 1987

3..1990

4. 1982

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212312456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1979

I

. 1987
3. 1990

4. 1982
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the first Indian Chief of Naval Staff of Indian Navy:

1. Adm Sir Edward Parry. KCB

t2

. Vice Admiral SH Carlill. CB, DSO
3. Admiral Krishna Swaminathan

4. Vice Admiral RD Katari
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212312457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312458 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the Defence Minister of Spain?

1

t-2

. Nuno Melo
. Margarita Robles

. John Healey

4. Guido Crosetto

Options :

1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212312458 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312459 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Conference addressed the issue of war against Japan?

1

t-2

. Second Moscow Conference

. Postdam Conference

. Tehran Conference

4. Washington Conference

Options :

1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212312459 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

Which of the following is a submarine of Indian Navy?

1

t-2

. INS Vikramaditya
. INS Ranvir

. INS Ranvijay

4. INS Karanj

Options :

1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212312460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad ¥ 9 o YR F18 ©1 U6 tgsel (JaHR0H) 82

—

f-2

L8]

4

. ISEICY faspaey
BT AR
. IBUATY 7o
BT BRI

Options :

1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312461 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

American missile defence system known as "“THAAD" is:-

1

t-2

. Terminal Hot Alternate Area Defence
. Totally High Altitude Area Defence

. Terminal High Alternate Area Defence

4. Terminal High Altitude Area Defence

Options :

1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212312461 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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YIS (THAAD) & H U Uil 3HR®! Hasd Shyd Ried of 313d &
1. 9 gle 3ffeey-e uRar fathg

Tledl T8 SMiedicys uRal fgh-g
T 815 3ileedHe TRl 8-

4. A 8IS cdicalg  URan sty

Options :
1.1
2.2
3.3
4.4

f-2

L

Question Number : 88 Question Id : 34212312462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a fighter aircraft of Indian Air Force?

1. LCA Tejas

t-2

. Rafale
3. PC-7- MK II Pilatus

4. Sukhoi-30
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212312462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafaRad o O F 91 YR I8 B deid [d0H =8l 82

1. YT ooy
2. bl
3. Uit -7- whd 1 fuaniey

4. 9915-30

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Brundtland Report, *Our Common Future’ prepared by the World Commission on
Environment and Development, emphasizes the principle of:

l. Green Revolution
2. Debt Relief
3. Conflict Resolution

4. Sustainable Development

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212312463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ﬁ%wg%mﬁwmﬂm%waﬁnémw-mmwﬁmﬁmm
RId 2

L. gRd wifd

2. BUIRIgd

3. faarg e
4. gad fary

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Most Fragile States Index. 2023 (powered by the Fund for Peace), which country is
kept in the “very high alert’ category?

1. Bangladesh
2. Nepal
3. Iran

4. Somalia

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212312464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A Tholgd el Sodd. 2003 (Y ANS I8l & YIbiD, 2023) S Ha BR U gRI
Y1ierd 8, gR1 T < B a8l 3cie” Uil § @ TA1 g 2

1. TG
2. 9T

3. 33
4. AT

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct ranks of Indian Navy in ascending ordrer:

A. Lieutenant, Lieutenant Commander, Captain, Commodore
B. Lieutenant, Captain. Lieutenant Commander, Commodore
C. Captain, Lieutenant, Lieutenant Commander, Commodore
D. Lieutenant Commander, Captain, Commodore, Lieutenant

Choose the most appropriate answer from the options given below:

1. A
2. B
34

4.D
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212312465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HRH 941 # d¢d gU A H el 3 &1 UgdH d
A. dftede, dfterc HHSY, HP-, BIHSR
B. dftede, &y, diftiede BHSY, BIHAGR
D. difede HIER, HPH, BIASR, dite-e

< fSu U fadeul § 4 @87 IR BT 90 DIOIT:

l.A

2.B
Bl

4.D

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212312466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following sectors of Indian borders from West to East :

A. Siachen Glacier
B. Demchok

C. Barahoti

D. Nathu-la Pass
E. Tawang

Choose the most appropriate answer from the options given below:
1.A,B,C,D,E
2B ELICE
38,0019, E. B

4. A.E,B,CD

Options :
1.1
2.2
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3.3
4.4

Question Number : 92 Question Id : 34212312466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RO G & HafaRad Yaed &l Uigd I Ud oaied os:

A, R wifrR
B. SHAI®

C. IRTgIdl

D. ATl U

E. ddif

I feu U 9wl § 9 8T IR B 99 DIIT;

1. A,B,C,D,E

2 ABDCE
A C.DLE B

4. ALE,B,C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the artillery guns of India in ascending order based on their firing ranges :

A. Pinaka MBRL

B. Indian Field Gun (105 mm)
C. Dhamush Howitzer

D. HAUBITS FH 77

E. M777 Howitzer

Choose the most appropriate answer from the options given below:
1. AB.C.D.E
2B, E.C,ILA
3B DB A

4.B,A.D.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212312467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i

URd &I Fafcifad digl &1 3a] BRRIT S 31YR R de¢d gU H O Haiyd o

A, 011 THEIRT

B. él%[l:l fihes 7 (105 mm)
C. ¥¥ gIfaTeR

D. BldcH UHTd 77

E. UH 777 BIfdesR
-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

Lo By G B E

]

B.EEC DA
32 B.DECA

4.B,A.D,.C.E
Options :
1.1
2.2
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3.3

4.4

Question Number : 94 Question Id : 34212312468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Regional Organizations in the chronological order based on their year of formation :

A. Andean Group

B. Black Sea Economic Cooperation
C. Nordic Council

D. Arab Maghreb Union

E. North Atlantic Treaty Organization

Choose the most appropriate answer from the options given below:

1.E,A,D,C,B

[

B h e B
3.A,B,C,D.E

4.D,C,E,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212312468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 103/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

fafaRad & WreH! &1 3k HAT 9y & 3R R HIa-hH § HaRId 6y

A. ST 9Hg

B. B YR 3 Tgdi (sidh Tl ShIAMTHD IR )
c. JAfs® uRyg

D. 3R4-TRIT gf+ad

E. 3R 3fedifcd ¥ Ta- (NATO)

A1 feu U faswhedl § ¥ gl IR B 99 DIIT:

LB A 1B

2.E,C,A,D,B
3.A.B.C.D,E

4 D.C.E.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212312469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Arrange the following defence related Committees in reverse chronological order :

A. KC Pant Committee on National Security Council

B. Kargil Review Committee Report

C. Vinod Misra Defence Expenditure Review Committee
D. Naresh Chandra Committee

E. Dhirendra Singh Committee on Procurement

Choose the meost appropriate answer from the options given below:
1. A,B,C,D,E
2 E: B RBA
3.E,C,D,B, A

4.E,A,B,C,D

Options :
1.1
2.2
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3.3
4.4

Question Number : 95 Question Id : 34212312469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafefad e g4 afifagl i faudid Sradsd | afeyd &1

A. BT GR&N BHiffd R H3l o wfAfd
B. BRI eg dife] Ruie

c. faHIe g zen oo geien giafa

D. TR gl il

E. Tile IR 4y &g ufifg

I feu U 9wl § 9 8T IR B 99 DIIT;

1. A,B,C,D,E

2.E,D,C,B,A
3. EC.DB &

4 E.A B, C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following formations of Indian Army in ascending order :

A. Brigade
B. Battalion
C. Corps

D. Division
E. Command

Choose the most appropriate answer from the options given below:
1.A,B,D.C,E
2:B.ADCE
3.8 E B E

4.B,D.A.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212312470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRATT Y1 Dl FEfARId faTa=1 (BRYH) Sl d6d gUhH T AdRYd $i |

A Toirg
B. dclfeidd
C.BR

D. ffau+
E. BUIS

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

boB By BACE

]

.B.ADCE
3JA,C.B.D.E

4.B,D.A,C,E
Options :
1.1
2.2
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3.3
4.4

Question Number : 97 Question Id : 34212312471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in the chronological order of occurrence :

A. Tehran Conference

B. Yalta Conference

C. USSR was created

D. October Russian Revolution
E. Japan bombed Pearl Harbour

Choose the meost appropriate answer from the options given below:
1.D.E,CAB
2D, C.E;A.B
3:DCEBA

4.D,B,E,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212312471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fAfeRad &1 39D 9icd g1 & HH H Haied I:

A. dgIHE ®IEHY

B. TTee] Y

C. JUHUHSR P 716

D. 3dTaR T4l Hifd

E. SIUTH 9 Ucl glek R gHAR] $1

i fu U fad el § 9 @81 IR &l 994 Diflu;

1L.DE,C.AB

2.D,C,E,A,B
3.D,C.E,B,A

4. D, B, E, C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212312472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the countries with most satellites in space (as of may 2022 as per statista.com). in
chronological order :

A Japan
B. Russia
C.UK
D. China
E. USA

Choose the meost appropriafe answer from the options given below:
1.A,B,C,D,E
2Z2E B CB A
3.4, C. B, D E

4. E.D, B, A, C

Options :
1.1
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2.2
3.3
4.4

Question Number : 98 Question Id : 34212312472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T3 2022 dd e o Iy it Yodige did <1l &l HIahd § AdRYd Hi |
(StﬂfiSTﬂ.COlﬂ% HIIR) |

A. SO
B. =9
C.gdb
D. 4+
E. JUUU
A feu T fashedl § 9§ a1 IR B 994 DIIT:

1A B.C D E

2.E.D,C,B,A
3.4,C,B,D,E

4.E,D,B,A,C
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Rank the countries in descending order as per their holding of nuclear weapons as per
(statista.com) in 2024,

A. Russia
B. USA
C. China

D. France
E. UK

Choose the meost appropriate answer from the options given below:

1.A,B,C,D,E
2.8, C.B;,D,E
3.4, D,C;B,E

4.A,B,D,C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212312473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YCfeT (statista.com) & SR, a’ﬂhﬂyﬁmﬁﬂw\f@ﬁmﬁﬁ?ﬁﬁ 9ui o6  IRGY
: (SOTET § &) |

A

B. JUIT

D. Y
E. gH
A feu U fawedl § ¥ a1 IR B 99 DIIU:

LA B CIDE

[

ACBDE
3.A,D,C,B,E

4. A B.D,CE
Options :
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1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The complete list of Kings is defined in terms of their relationships to the conqueror. Arrange list
as given by Chanakya and as explained by LN Rangarajan -

A. Ari

B. Shatru

C. Mitra

D. Ari-Mitra
E. Mitra-Mitra

Choose the most appropriate answer from the options given below:
1.A,C,B,D,E
2.8 B C I E
3:-A,C DB, E

A B CE
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212312474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T3 1 T, 39 fasidn Iei © Ral gR1 aRyIid gidi 8| Fafafad &1 9 gri il
1T 3R Ud U9 TRTSH gRT ARAH {6 U HHIR fod-

A 3R

B. 2]
c.fia

D. 3R- A
E. oA

A fau U fasedl # 9 ¥8T 3R &1 994 Dol

1.A,C.B,D,E

2.8 B G E
3.4,C,D,B,E

4.A,B,D,C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the below:

A. First defence minister of Independent India was Jawaharlal Nehru.

B. Rajnath Singh is the current defence minister of India.

C. General Upendra Dwivedi is India's newly appointed Chief of Air Staff.
D. President of India is the ‘Supreme Commander of the Defence Forces’.
E. General Bipin Rawat was India's first Chief of Defence Staff.

Choose the most appropriate answer from the options given below:

1. C, D, E Only
2.B,C,D, E Only
3.A.B.C,D Only

4.B,D. E Only
Options :
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1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212312475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad 0 9 udl duHl ol 941

A. WA HRA & UYH &1 Hal STd1edrd Hge Ul

B. UMY {88 HRd & 9ddM e HAT g |

C. SFRd 3U=% fgddl YRd & -4 - g 9w 3h TR €% g
D. HRd & IPUfT GiH HHIST 31 fShy Bid g

E. SFRd fefUH ad HIRd & UUH A% 16 Sty W 4|

- feu U g edt # F Fg IR &1 99 BT
l.C,D,EHad
2. B, C,D,E $hdd
3.A,B.C.D ®had
4.B,D,E Hdd

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 113/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Arrange the following countries in descending order as per their military expenditure by SIPRI
Report, 2023:

A. Russia

B. China
C.USA

D. India

E. Saudi Arabia

Choose the meost appropriate answer from the options given below:

1.C.B, A DE

b2

CoABDE
3.C,A.B.E.D

4.C,B,A,E,D

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212312476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFrafeRad 2l ! ! (T, 3. U1, 3R, 3MTs.) 2023 RUIE GRT 3idbield 3-d U4 o4 (2023 H)
&I e Y HH HH H AR B |

A Y

B. dH

C. 3ARSDI
D. HRd

E. &l 3Rd

A feu U fawedl § ¥ a1 IR B 99 DIIU:

1.C,. B, A DE

(]

.C,A,B,D,E
3.C,A,B,E,D

4.C,B.A.E.D
Options :
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1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following *subjects” fall under Union List under Constitution of India?

A. Delimitation of Cantonment areas

B. Atomic energy and mineral resources necessary for its production
C. Piracy and crimes committed on the high seas.

D. Electricity

E. Police and Public order

Choose the most appropriate answer from the options given below:
1. A. B, C Only
2.A.B,C.E Only
3.B.C.D. E Ouly

4.C,D. E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212312477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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URd & Gidy & 3idrid Fafafad § 9 & 9 -fqua 9.9l & 4 g 2
A. BT &3 BT URYTE

B. IHY 4l 3R 3P IdIe & [eU 3iawae Wis Guf - Wid
C. G YHg H DI 75 a1 3R WY

[
- feu 1T fadheul H# ¥ FT IR D1 997 DI
I.A, B, C Hdd
2. A,B. C.E $dd
3.B.C.D.E $dd

4.C.D.E &ad

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the given events related to Israel-Hamas war, 2023 in the chronological order of
occurrence:-

. First big ground assault on southern Gaza area of Khan Younis.

. First truce of war announced by Israel and Hamas.

. Israel launched ground offensive in Gaza from North.

. Hamas gunmen stormed into Southern Israel from Gaza and killed 1200 people and took
240 people as hostage.

E. Israeli troops entered Gaza's biggest hospital- Al Shifa in Gaza city.

ODnwe

Choose the meost appropriate answer from the options given below:
Lo BoE DL E
2B AC,DE
I DB ACE

4.D.C.E.B.A
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Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212312478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SORITA- B g5, 2023 B 9131 Bl Id °ied B & BIaHH U Haiid &Y |

A. CIET TSI & @1 gAY IR Ygdl 931 STHi-T ghr |

B. SoRIAd 3R 4N gRT Ugdl 45 [avMH |

C. SORTA 7ol H IR SHIHT 3ThH0 URY

D. BUMN & SghUTRAT - TS U Gaf07 SoR2d H gHd fhaT 3R 1200 AT &I gl &I 7l

200 P SE] ST
E. SORTTC U4 &al - TSl e H el & T a9 3RUdTd 37d- =211 H yar faar |

AT fSu U faweul § 9 98T 3R 1 994 DIoI0:

1A B.C D E

2. By A GDGE
3.D:B. AEE

4.D,C.E, B, A
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following cities of Ukraine in sequential order from north to south :-

A. Melitopol
B. Kharkiv
C. Kherson
D. Mariupol
E. Odesa

Choose the most appropriate answer from the options given below:
1.AB.C.DE
2: B E D
3B DA LE

4.B,A,D,E,C

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212312479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o & FETIRIT eI &I SR U Sf&01 & SIHH H Zrafedd H1|

A, Hfcrega
B. WRfdbd
C. WA
D. AIR3UA
E. 3ladl

-+ fGu T fasedl § 9 &gl IR &1 994 Sifeu:

1. A,B,C,D,E

2.B,AGCED

3. 8, DA CE

4.B.A,D.E.C
Options :
1.1
2.2
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3.3
4.4

Question Number : 106 Question Id : 34212312480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify true facts about “Agni’ and India's defence spending :

A. In 2001, India still lacked the ability to hit Beijing.

B. Agni-I was tested in February 1994.

C. Agni-II mobile Intermediate Range Ballistic Missile (IRB) with a range of 2000 km was
tested in May 1999 and January 2001.

D. India's defence spending in 2000-2001 was hiked by 28 per cent.

E. Agni-series missiles technology has been taken by India from Mongolia.

Choose the meost appropriate answer from the options given below:

1. A, C,D and E Only
2.B,C,DandE Only
3. A. B, Cand D Only

4. C, D and E Only
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212312480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :
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<3 3R HIRd & &1 09 W A T4 Dl UgdH & |

A. 2001 ¥ YR & U SIS U= s d gHd &l didd ol Al

B. -1 BT YN0 BRG3] 1994 H 1 747 U7 |

C. 2000 ThHT 391 & TIY Y- 11 AR SRHITSUE 39 dfdied TS (S HREITH) &I
TRI&0T 75 1999 3[R SiHa3l 2001 H fobdn 747 47|

D. 9 2000-2001 H Y& @ T 28 U= 1 gig DI 712 21|

E. 3l ORI fausd deHid YRd A Jiifaan 9 ol g

- feu e faseut # ¥ #T IR &1 99 DI
1.Hdd A, C, D3R E
2. $hAad B, C,D 3R E
3.$Hdd A, B.C3R D
4 HIAC. D3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following views of Kautilya on war against the enemy :

A. Kautilva mentions different kinds of war in his book *Arthashastra.’
B. *Mantrayuddha’ means “war by counsel’

C. ‘Prakasayuddha’ is concealed warfare

D. *Kutayuddha’ is ‘open warfare’

E. Gudayuddha is ‘clandestine war’.

Choose the most appropriate answer from the options given below:

l1.A.B.C,D andE only

B

. C and D Only
3.C.Dand E Only

4. A. B and E Only

Options :
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1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212312481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I & (933 48 W Bl & FEfaiad IR faar &1 |

A. AU Q@ <R 1 difced H faliE YR & ggi &1 Ieoid fhar|
B. HA4g ®I 3 g HAM Y g |

C. b gE ‘Uwdd < 5|

D. $cgg gl g< gl

E. 16 3% T 3 ¢

- feu U fasett # ¥ FT IR 1 99 DI
1. $dcd A, B,C.D 3R E
2. Hdd C 3R D
3.%dd C, D 3RE
4 HITA B3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct statements about the location of Institutes/Colleges/Academy :

A. National Defence Academy is at Khadakwasla.

B. Indian Military Academy is in Dehradun.

C. National Defence College is in Pune.

D. MP Institute for Defence Studies and Analysis is in Delhi. (MPIDSA)
E. Indian Council of World Affairs is in Delhi.

Choose the most appropriate answer from the options given below:

1.B, C.Dand E Only
2. A.B.Dand E Only
3.A.B.Cand D Only

4. A, B, CandE Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212312482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRIF Bl /fHIGH & RIF & 9R) H Fgfaiad $u=f & uga@ &L

A. YT &M SAPTGH TSHaHAI H g |

B. YR = Spledl Ggigd 4 g

C. AT T AgIfdened gul § g

D. UH.TT. I&T 004 2R G0yl SR (MPIDSA) faeeil H g
E. fay AMdl &1 URJ™ uRkeg (1cwa) feed J 51

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.HddB,C, D3R E
2. Hdd A, B, D 3R E
3. HAd A, B,C 3R D
4 HIAA B,C3R E

Options :
1.1
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2.2
3.3
4.4

Question Number : 109 Question Id : 34212312483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the following statements about the growth of International Security Studies :

A. Civilians became extensively involved in military planning for the first time during World
War II.

B. RAND Corporation conducted several seminal research work on security during the first
wave of security study.

C. Renaissance of Security Studies began at the end of the Vietnam War.

D. Ford Foundation decided to sponsor several academy centres in security affairs in mid-
1970s.

E. The creation of the International Security and Arms Control section within the American
Political Science Association in 1988 showed the growing relevance of the Security Studies.

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. Aand C Only
3. Aand D Only

4. A.B.C.Dand E
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212312483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AR GR& AT & IR H [FEfaiad YA R AR &Y |

A. T9% g 11 & SR Ugdl aR I=7 G & AT [9%gd $U U 9IRS Fiaferd gul
B. 3RUTAS] (RAND) HIRURYA = Y& IR Hgaqul b1 YR&IT 349 & JUH g |
fpar|

C. faadm - g Dl Guiftd W GR&T g & UG bl YE 31|
D. uﬁﬂéw@%mqﬁa?m AT IR @5 SDlaiid dhal &l WIRR B DI Y99 T 1970
far|
E. 99 1988 ARSI Ufciidhd W5H THIRIURM H AP GIa 3R giaR g0
YT ST YRET &R 1 dedl g3 UERTDHd DI SR 2|
A< fqu U fq&edl § 9 a7 IR &I 909 DIfoIT:

. Had A 3R B
2. HAAd AR C
3. Hdd A 3R D

4 A B.C.D3IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following statements regarding Chinese nuclear programme:

A. Mao Zedong secured the services of Qian Xuesen to steer the Chinese nuclear programme.

B. The first Chinese nuclear test was conducted at Lop Nor on 16 October 1964.

C. Chinese Premier Zhou Enlai informed about conducting nuclear test to Heads of State and
government, including India's Prime Minister Jawaharlal Nehru.

D. China formally acceded to NPT in 1992.

E

. China joined the other nuclear weapon states in supporting an indefinite extension of the
NPT.

Choose the most appropriate answer from the options given below:
1. A. B.D and E Only
2. A, B and C Only
3. A,C,Dand E Ounly

4. A.B.C,DandE

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212312484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i< & RAY] SA6H & dR I (afafad oyl R fdaR &1 |

A. I IRAT0] BTGB H B IelH & 18 q13{l Siei=1 fhgH S8 &1 a1t ol |

B. I &1 U4H YIHTY] Y& 16 TR 1964 B AT AR H fbam 7 |

C. T & U] 13 TS = URI&0 H3- & aR T URTT THHHT Sdrgdld 1g%
Tigd 31 AP & YAl bl Jied foar AT

D. 9 A Y 1992 T UHIRS ¥U Y TGS S WIDHR fHar 1|

E. I8 & 3 [a8dR & a2 & forg =l 3= uar] §ue gl & iy 2nferd gam

- feu e faseut # ¥ #T IR &1 99 DI
1.Hdd A, B,D 3R E
2. HIA A, B 3R C
3. $dd A, C, D 3RE

4 A.B.C.DSIRE
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the following:

A. Asif Ali Zardari is the President of Pakistan.

B. Bilawal Bhutto Zardari is the President of the Pakistan People's Party.

C. Iran and Pakistan shares land border.

D. Durrand Line demarcates land border between Pakistan and Afghanistan.
E. Pakistan shares land border with Iraq.

Choose the most appropriate answer from the options given below:
l.C,Dand E Only
2.B. C,D and E Ounly
3.A.Dand E Only

4. A, B, C and D Only

Options :
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1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212312485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afeiRad H O 9l syl 1 999 &Y |

A. 3T 3fefl TRERT WIfha & Ayufd g

B. fadad YgI sReRl Ui Uige urdf & 3 g1

C. S¥F 3R U el YT 9= 6 o |

D. S8 Al Y& 3R B & did 41 &1 HeiRd wdl g1
E. Ul 330 U Ael YIHT I Rl g |

- feu U fasett # ¥ FT IR 1 99 DI
1.%dd C,D3R E
2. HddB,C.D 3R E
3.HAdA, D3R E
4. HAd A, B,C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following sentences related to CTBT and identify the correct statements:

A. CTBT was proposed to restrict the nuclear tests.

B. CTBT has been retified by more than 170 countries.

C. US and China has already rectified CTBT in 1996.

D. India did not sign CTBT and termed it “discriminatory.’

E. Ashley Tellis supported India-US nuclear ties and argued that the US should start treating
India as an Asian superpower.

Choose the meost appropriate answer from the options given below:

1.A,B,C.Dand E
2. A.B.D and E Only
3. A.Band C Only

4. A, C,Dand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212312486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UieTaid] O Ueifed Fafeiad i IR [daR &3 3R el dY-l H1 99+ & |

A. TRHTY] URT&f0T I Ufdafad e & fau WieTeie] uxatidd &1 T 2|

B. 170 ¥ ({4 <=1 4 IS o1 sguqd- foa|

C. = 3R Uy a4 1996 T GiSTHIET BT AU HR Ib ¢

D. YRd 7 I IR g&1&R =181 {hU 3R 3 -Heudqul &el|

E. TRl e 3 YRT-UY WA et & grd- fdbar 3R ddb a1 fh gud & YRd &
1Y TR AR ST dgR Bl YT B oAl dligu]|

- fqu Mg fadetl # ¥ @1 SR &1 997 DI
1.A,B,C,D 3R E
2. $HAd A, B,D 3R E
3.PdAA, B3R C
4. HddA, C. D3R E
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Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct answer from the following statements on Nationalism:

A. Mahatma Gandhi argued for violent resistance and satyagraha.

B. Johann Herder is often portrayed as the father of Cultural Nationalism.

C. Eric Hobsbawn emphasised on “invented traditions’.

D. Benedict Anderson portrayed the notion of * imagined communities’.

E. Karl Marx argued in Communist Manifesto that *“working men have no country'.

Choose the meost appropriate answer from the options given below:

l1.A. B.Dand E Only
2. A.B,Cand D Only
3.B. C.E and A Only

4. B, C, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212312487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 129/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Iyare R Fafafad Sy H ¥ Wel S o1 984

A. HETHI Tl A g9 UfcRiY iR YA &I db Wd [Tl

B. SIIgH 85% I UI: YRS yarg & fUd1 & v H fKfid {61 Sdr g

C. UR® gleudd = -31fdtpd TRURT W dd fear|

D. d1Sde US¥E + “bicdd Y&/l &1 4R &l FEAd fhar

E. S A% 1 el AT - d el f SR afaddl &1 $is 2 g1 gidTl

- feu U faded! ¥ FpT IR B 90 HIST:
1.Pdd A, B, D 3R E
2. HIA A, B,C 3R D
3.$hddB,C.E A
4. $adB,C.D 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read carefully the following sentences and choose the correct statements:

A. Under Geneva Protocol, 1925 use of Chemical Weapons were banned.

B. CTBT. which was signed in 1972, banned all nuclear tests.

C. Under Start II Treaty of 1993, US and Russia agreed to ban Multiple Independent Re-entry
vehicles.

D. PTBT which was signed in 1963 banned atmospheric, underwater and outer space nuclear
test.

E. The Convention related to production and use of Biological Weapons was signed in 1972,

Choose the meost appropriate answer from the options given below:

1. A, B, Cand D Only
2.B, C,D and E Ounly
3.B. C and E Only

4. A, C,Dand E Only
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Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212312488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FEfaRId a1 T YA D Ue 3R Hol S DT 9T B |

A, SHATUIIHTd, 1925 & ded J9™H gl2aR! &I uldsied fdar |

B. 1972 ¥ gXT&Rd Hictaic! 3 Gy gAT] wigor ! ufdeiad foar|

C. 1993 Bl WIE I (Start IT) Hi¥ & Tgd JU 3R T 98 WA U4: Y92 digA! (Heeiud
STSUSY R U1 fgdhed) Pl Uldaied ®=- I 9g4d gu|

D. 1963 H g UIETHIET 4 argrsd, feloia 3R digel 3idfke o URAr] wieul ol
gfddferd fhar

E. Sifdd BIYURI & IdIG 3R IYGRT U Yefed YA 9y 1972 H gadeR fear |

- fqu g fadetl # 9 FgT IR &1 997 DI
1. &dd A, B, C 3R D
2. $ddB,C, D ARE
3. $ddB,C AR E
4.Hdd A, C,D 3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Read the following statements about International financial structure and choose the correct
statements:

A. Russia was included in G-7 in 1990.

B. At the New Delhi Summit of G-20. India became member of G-7 replacing Russia.
C. IMF and World Bank were created as a part of the 1944 Bretton Woods Agreement.
D. WTO was formed in 1995 as a replacement for GATT.

E. India did not join WTO terming it ‘discriminatory and unequal’.

Choose the meost appropriate answer from the options given below:

1. C and E Only
2. Cand D Only
3.A.C.DandE Only

4. A.B,Cand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212312489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IRIPIY fa<iTg W= IR | FEfaRad SU=1 o1 Ui 2R Uel SUA! BT 99 B |

A. T B Sl-7 H gy 1990 H giHferd fdar man|

B. 73 faceil uil-20 RRER Y H 34 bl UidRAIUd Hd gU YR Sil-7 BT Uaw 94 74|
C. JTSUATE 3R 3y d& Pl 1944 & sie o0 YA & [g¥ & ¥9 H Jiord a1 T/ |
D. Sl BT 1995 H T & SivTg FHitid fdhar |

E. HRd SeRICI3M DI ~HeHEayU 3R UM gdld gU Su9H HiHferd Tel gafll

1< ST U [qhedl § ¥ a7 IR @l 94 DIIT;
|. Had C 3ARE

2. Had C IR D
3. Hdd A, C, D3R E
4. HIAA. B.C 3R D

Options :
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1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Choose the correct statement from the following facts from Constitution of India:

A. Under Indian Constitution ‘promotion of international peace and security’ is the subject
matter of Directive Principles of State Policy.

B. Swarn Singh Committee recommended the Fundamental Duties.

C. *Supremacy of the President of India is one of the basic structures declared by the Supreme
Court in Kesavananda Bharti Case.

D. Indian Army, Indian Navy and Indian Air force work under the legislative power of the
Union.

E. Participation in international conferences, association and other bodies and implementation
of decisions made there at falls under Concurrent List.

Choose the meost appropriate answer from the options given below:

1. A, B, Cand D Ouly
2. A, C and E Only
3.A,B,C,Dand E

4. A. Band D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212312490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HRA & GfayH U FgiaRad 92 # T el HyHl o1 994 B |

A. MR fae & idrid iariPig ifd 3R GRem &1 sgrar &1 ey & -Hifd e
dd! & favgaxg |

B. d daodl di =141 wq0f [¥g ifd 3 &1 i

C.EEH%?@%@W@WPWWWWWWﬁW%@

T gl

D. "URY Yel8-1, 1941 3R argy-Tr 49 oi faerdl 2idd & sidiid & o3d g

E. RIFT Sl i 3R 3= bl | 381 o1 3R dgi feiu 7u [oial &1 sraf<a+
gHgd gt A1 2|

A fSUu U fasedl § 9 FgT 3R 1 994 DHIfoIu:
|.HAJA. B, C 3R D
2. HAA A, C 3R E

3.A.B.C.D3RE

4. Hdd A B3IRD

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Read carefully the following statements regarding nuclear materials/policies and answer the
correct ones :

A. The International Panel on Fissile Materials compile information on global stocks of fissile
materials.

B. The raw material for nuclear weapon is fissile material, either highly enriched Uranium or
separated Plutonium.

. India continues to maintain its long standing policy of secret nuclear ambiguity.

. Russia withdrew its ratification of CTBT in 2023.

. Russia suspended its membership of the 2010 Treaty on Measures for the Further Reduction
and Limitation of Strategic Offensive Arms.

mon

Choose the meost appropriate answer from the options given below:

1. A, Band C Only
2. A, B, Cand D Only
3.A.B.DandE Only

4. A.B,C,DandE
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212312491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R Qe Hifqar anfe O d@&fid Fafaiad syl o ergds ufeul

A.W@%i%@}ﬂﬂﬁﬂﬁ@ﬂﬁ%ﬁ@@%%%ﬁ%i@ﬁww

RIS

B. A SIYAR & U Sl WIEd a1 dl 3ifd 99 QI a1 f[aafid weige ot
fadsg urE g

C. YRd Tt GRA7v] Hfcrerdr o1 391 didaiieids Hifd &l Wil 3@ @I 8|

D. 9 4 2023 H GG 94 &l 9y o e

E. 34 4 IS b AR gRIART & 3R 3{fed FHhHur 3R Hl & U™l U 2010
&1 Y BT ST Fe=adl Bl fcifad @ &

4 fqu MU faset! & 9 F1 IR o1 99 i
I.had A, B3R C
2. Hdd A, B, C 3R D
3. ®Hdd A, B, D 3RE

4. A B.C.D3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Choose the correct statements from the following:

A. The Tawang area and Southern Munyul were under the temporal and monastic writ of the
Lamas of the Tawang monasty for most of their history.

B. Some Chinese troops reached up to Tsona Dzong (north of Tawang) into Tibet in 1912.

C. Max Muller, British Charge d' affaires in Peking wrote to the British foreign secretary about
Chinese “Forward Policy’ as an essentially opportunistic Chinese steps.

D. Russia captured Tibet in 1889.

E. Mongolia was holding half of the Tibetan territory between 1910 to 1925.

Choose the meost appropriate answer from the options given below:
1. A. Band C Only
2.B. C and D Only
3. C,D and E Only

4. A.B.C,DandE

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212312492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fFgfaiRad © 9 Ug Syl & 999 i

A. TART &3 3{R Gi&ull AIgd i o ATErS B TS 3R H38 3hbls & 3¢ 4|

B. $d& ?ﬁ:ﬁifqu Gl ay 1912 H fdsdd H @i & IR H [&Ud TH1 1] (Tsona Dzong ) dd
Ugd Mg 4|

c. Ui 7 fafe=r guRI eigd A HeR A A841S “BRds Ulierdl & 9R # fafex fagm
Tferd &1 forar U1 3R 34 Udh 3fquRdrd! di-l dgH Sda ol

D. 39 - ay 1889 H fdead U deall fdha |

E. 94 1910 ¥ 1925 & did HIferdr < fdsdd & 318 YHFT TR dhesl] H 3@l 4|

- fqU U g edt # § F8 IR &1 99 BT
1. PIA A, B3R C
2. Hdd B, C 3R D
3.%dd C, D 3RE

4.A.B.C.D3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify true facts related to strategic thinker and choose the correct statements :

A. Carl Clausewitz wrote the book on war “Observations on the Nature, Theory and Strategy of

War and Combat™.
B. General Giulio Douhet was the key proponent of strategic bombing in aerial warfare.
C. William Mitchell established the foundational aspects of American military airpower.
D. Liddell Hart was the Ttalian naval strategists who argued for naval expansion.
E. J.F.C Fuller has written the book *A Military History of the Western World®.

Choose the meost appropriate answer from the options given below:

1.B, C, D and E Only
2. A, B.CandE Ounly
3. A.Band D Only

4 A,B,C,DandE
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212312493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UAR® [daRS! & f99g | (AgfaRdd di R fdaR & 9 Il 3O ¢ |

A. BTcl qellAdEs + <3 G 3fsTd 3 & TR, Rl U8 ool 2K 9k T8 Bl

Q& ferd |
B. SR fSifcisfl S13g¢ gals 4= 1 X0FIdd dHaR] & W9 Uiddiasd U
c. fafera fir=rd A ARG 8- IrgRiiad & A1 SBRI &1 RIG S |
D. fdSd 8I¢ gedl & A1 IUHIISR U S8l F1g41 fadR &1 dd fear|
E. o U, Tl HeR 7 U Aferd] BT 3 g 93¢ des° J&d® fordi|

I lGU U [qhedl § ¥ a7 IR 1 999 BIIT;
. HddB.C.D E

2. Hadd A, B, C AR E
3. hdd A, B3R D

4.A.B.C.D3RE
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following sentences and choose the correct statements:

A. Russian strategic thinker Sun Tzu has written the famous book *The Art of War’.

B. Machiavelli's strategic views are explained in ‘The Prince’.

C. Hobbes's Leviathan was written in the context of English Civil War.

D. Rousseau's book “History of the Peloponnesian War® was written in the context of European
state system.

E. Clausewitz's book *On War’ captures the nature of war through the idea of trinities:

Choose the meost appropriate answer from the options given below:

1.A. B, CandD Only

]

.C,Aand D Only
3.B.Cand E Only

4. A B.C,Dand E
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212312494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 140/188



8/31/24, 10:24 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

FgiiRad a1l &l Ut 3R T Syl &1 99 D1 |

A. 341 WHITAP faaR® I o 7 URTs TS -341¢ 3% gl fordi|

B. Hfdrardei & U [ddR & UG- & Wy Gy U g)

C. gieq Bl dfqaryH Siieer fidd g & e # fordi 18 g |

D. ¥4I &1 G g 3 & U= 9 QR4 ey Yoltedl & e J fordi 718 21
E. dilsifdes &l G 3HH a3 & fddR & Hied § g &l Udpfd & Wy Hdl ¢

- feu U fasett # ¥ FT IR 1 99 DI
1.PdAA, B, C 3R D
2. $had C,A AR D
3. $had B, C 3R E

4.A.B.C.D 3RE
Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the facts about Kargil Review Committee (KRC)

A. The Kargil Review Committee was appointed on July 29,1999,

B. The Kargil Review Committee had four members.

C. The Kargil Review Committee- observed that India is the only major democracy where the
Armed Forces Head-Quarters are outside the apex government structure.

D. The Kargil Review Committee was constitued by Deva Gowda government.

E. K. Natwar Singh was the Chairman of the Kargil Review Committee.

Choose the meost appropriate answer from the options given below:

1. A, B, Cand D Ouly

[

. A, B and C Only
3. A.Dand E Ounly

4.B,C,Dand E Only
Options :
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1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212312495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRITA THIT AT (H2RE) & aR H 9ol a2l & UgdH &1 |

A. DRI FHi& FiHfd 29 Sdrs. 1999 H Fdd &1 TS|

B. $3RY T IR Y& 4|

c. HRYT A 3fadiihd a1 [ YR shaldl 91 didhdd ¢ Slgl U dal & Heray 2y
WROR YT Y dg ¢ |

D. HIRY! &g NS IRBR gRI 915 T3 A

E. . JedR [¥g SR & g U

-4 feu e fasedt # 9 @1 SR &1 98 DT
1.®dd A, B, C 3R D
2. Hdd A, B3R C
3. Had A, D 3RE
4. HddB,C, D 3ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct statements from the below:

A. Afghanistan is a land-looked country.

B. PM Atal Bihari Vajpayee visited Lahore in February 1999.

C. India-Pakistan fought war in 1971 that resulted into the creation of Bangladesh.
D. Morarji Desai was the PM during India-Pakistan's war of 1971.

E. Indus Water Treaty was inked between India and Pakistan in 1955.

Choose the most appropriate answer from the options given below:

1. A. Band C Only
2.B,C,D and E Ounly
3.)A.B.C.Dand E

4. A, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212312496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fSu U a1l © O 9gl Hul I ugdH de |

A. B T RId- I ('S - dlds) G|

B. 4ItY sred [9gRl areiudl A wral 1999 H QIR @1 A1 Bl |

C. YRd- Uii&= 4 9y 1971 T g 31 forgds uR0Me Wy difeieasl &l goid g3l
D. YRd- UiHEI 1971 & g & SR HRRSH GaTs T 4|

E. [ 51 919 a9 1955 T YR 3R Ulih < & sl g&I&Rd g5 |

A fSu U fasmedl § 9 ¥8T 3R &1 994 DI
. Hadd A, B3R C
2. Hdd B, C.D 3R E

3.A.B.C.D3RE

4. HAAdA. D 3RE

Options :
1.1
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2.2
3.3
4.4

Question Number : 123 Question Id : 34212312497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Read the following statements regarding environment and find out the correct statements.

A. Rachel Carson published ‘Silent Spring’
B. Greenpeace was founded in 1969.

C. Bhopal Chemical Plant disaster in 1984.
D. Chernobyl nuclear disaster in 1990.

E. Brundtland Commission Report in 1997.

Choose the most appropriate answer from the options given below:

1. A Band C Only
2. B, C and D Only
3. A, CandE Only

4. A B, C.Dand E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212312497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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TgiaR0l & dR H HgfeRad ©y- &1 feU 3R Tg! Hy-l &I @it |

A. 3T BRI A Uigcle B UdH1Rrd 31

B. U &1 WG Y 1960 H g3 |

C. YOS -y 4F Are] 9y 1984 T 8|
D. dif9d YA A 94 1990 H g3 |

E. sicds AR RUld 99 1097 H S|

i feu T fahedl § 9 a1 IR B 99 DIIT;
. $Hdd A, B3R C

2. Had B, C 3R D
3. hadd A, C 3R E

4.A.B.C.D3RE
Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statements about India's Nuclear Programme:

. Homi Bhabha was the Chairman of India's Atomic Energy Commission.

. India tested its first nuclear device 1n May 1974.

. India tested its second nuclear device in May 1998.

. After India's second nuclear test, US president George Bush announced the imposition of
economic sanctions against India.

E. After India's May 1998 nuclear tests, US President George Bush used the Hot Line for the

first ever to talk to China's leader, Jian Zemin about nuclear developments in South Asia.

w M Wl v o =

Choose the meost appropriate answer from the options given below:

1. A, B, Cand D Only
2. A.Band C Only
3A.B,C.Dand E

4. A, B, Cand E Only
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212312498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR & R FDHH & aR § I Bl &I GgdH DX |

A. B! HIHT YR & URATY] Sl SN & g |

B. YRd - U Ugell IRHIY] fSargd &1 Uieor 143 1974 H b 1|

C. YR A U S8 IRHY] {59159 &1 uiequr Js 1998 H A

D. YR & T8 WHIY] URI&01 & dTe, JUH & APUfd Sis 9214 HRd & [de e
fcee] ST 1 T B |

E. JUY & APl Sis o2+ féror gimn # wrar nfafaferat & 9 | =i & At o
S T Uy IR SIq<id | gie a3 &1 Suan el

A< ST U [qhedl T 9§ a7 IR &l 999 DIToIu;
. Hdd A, B, C 3R D
2. Hadd A, B AR C

3.A.B.C.D3RE

4. HIdA.B.C 3ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212312499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the facts and chose the correct statements.

A. India inducted the aircraft carrier Admiral Gorshkov in Indian Navy in 20035.
B. In June 2001, India and Russia signed deal for weapons system.

C. India has purchased SU-30 from Russia.

D. Radar-evading stealth ships are now being built in India.

E. India imported modernised war-planes from China.

Choose the most appropriate answer from the options given below:

1.B, C.Dand E Only

b2

.C.D and E Only
3. A, B.CandD Only

4. A, B, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212312499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A HUAl B UgdE B3 3R ol YAl BT G- B |

A. YRA H a8 2005 T HRA A1 H TIRGBTHE HRIR TSR MBI I 1 ST
B. 91 2001 H YRd 3R &Y - gIAR [ed & Uig R gXiER [dU]

C. YR = ¥ Y UHY 30 I 1AM fHa1 g |

D. YoR- 24137 Wiy e o YRd § [fEd fbu S g

E. YRd 7 YD g -1 919 Y 3N B

1 feu U fas ettt # 9 F1 IR &1 99 DI
1.HddB,C,D 3RE
2. Hdd C, D 3RE
3. Hdd A, B,C 3R D
4. AT A B, D 3RE

Options :
1.1
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2.2
3.3
4.4

Question Number : 126 Question Id : 34212312500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTI
Organisaton Head Quarters
A | NATO I | New York
B. |United Nations | II. |Brussels
C. |IAEA III. | Beijing
D |SCO IV, | Vienna

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV. D-III
2. A-IIL, B-IL, C-TV, D-I
3. A1, B-II, C-III, D-IV

4. A-IV, B-III, C-1, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212312500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T
o

T I

1el L |

H@ﬁﬂg I |gdcH

NEUST 1L | SifsfT

ola|w|e

Tg ot aff v, | fagar

A fSu U fasmedl § U 9gt 30 &1 994 DIoIu:

1. A-II, B-1, C-IV, D-III
2. A-II1, B-11, C-1V, D-1
3. A-L, B-II, C-III, D-1IV

4. A-IV. B-11I, C-1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312501 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Events of World History Year
Armenian Genocide I |1933

Hitler became Chancellor of Germany | II. | 1915

Mao Zedang began the Long March [T | 1938

olofw|»

Munich Agreement IV. | 1934

Choose the correct answer from the options given below:

1. A-IV, B-111, C-1I, D-1
2. A-IIL B-IV, C-1, D-II
3. A-1l, B-1, C-1V, D-III

4. A-I, B-II, C-IIL, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212312501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy
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ﬁﬁﬁ:?j}ﬁm &?EH
A | IREFET A3EER I |1933
B. |TBcoR o+ @1 9igaR & I | 1915
C. |=msf SIEFT = @i ard HRY faean| mn [ 1938
D. | =A@ gugiid V. | 1934
i feu U fae el § 9 T8t SR &1 994 DifIT:

1. A-IV, B-111, C-II, D-I

2. A-III, B-1V, C-1, D-II

3. AL B-1, C1V, D-TIT

4. A-1, B-11, C-1II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312502 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Regional Organisation Year of establishment
A | African Union I [1949
B. | Council of Europe II. |2002
C. |ASEAN Regional Forum | III. | 2003
D. |East Asian Summit IV. 1994

Choose the correct answer from the options given below:
1. A-1, B-1I, C-1II, D-IV
2. A-IL B-1, C-IV, D-1II
3. A-IV, B-III, C-1, D-II

4. A-IIT, B-IV, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212312502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

it

iy
o

3Bl Iy

1949

B3 3B TR

IL.

2002

SR &g BRe

I

ola|w|e

&Y. TR Rre T G uReE 9ite)

IV.

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-I, B-IL, C-III, D-IV

2. A-1l, B-1, C-1V, D-III

3. A-IV, B-III, C-1, D-II

4. A-II1, B-1V, C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312503 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Soviet Leader Years/Tenures
Viadimir Lenin I. |1924-1933
Joseph Stalin II. 11917-1924

Nikita Khrushchev | III. | 1964-1982

S|ln|w|»

Leonid Brezhnevw IV, | 1953-19464

Choose the correct answer from the options given below:
1. A-IL, B-1, C-1IV, D-III
2. A-1, B-II, C-IIL, D-1IV
3. A-IV. B-III, C-1, D-II

4. A-III, B-1II, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212312503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

T T T I
Hifgad 41 U FrdPTA
wfeHR A= | L |1924-1953
S wIeE | I [1917-1924
Pfeargga | 111 |1964-1982
oS soHg | IV, [1953-1964

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-II, B-1, C-IV, D-III

ola|w|e

2. A-L, B-1I, C-IIL, D-1V
3. A-IV, B-III, C-1, D-II

4. A-III, B-11, C-1IV, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
Cold War Events Year
A | Berlin Blockade L 11936
B. | Soviet Union invaded Hungry II. |1948-49
C. | Berlin Wall erected I | 1971
D. | Commumnist China joined the UN | IV. | 1961

Choose the correct answer from the options given below:

1. A-IIT, B-1I, C-1IV, D-1
2. A-IIL B-IV, C-1, D-II
3. A1 B-II, CII, D-IV

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212312504 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifsy

aﬁag'?:rn;‘tl‘aﬂl! @&H
A | g ® e 1 |1936
B. |Hifagd ¥9 &1 87N )R gHa I |1948- 49
c. |sRH @ darEdi®l T 1. [ 1971
D. | SRR I Hgad TP H T g | IV. | 1961
i feu U fas et § 9 I8! SR &1 994 DifIT:

1. A-III, B-II, C-IV, D-1I

2. A-III, B-1V, C-1, D-II

3. A-L, B-II, C-IIL, D-IV

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312505 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
World Events Year
A |Boxer Rebellion in China I 1994
B. |Taliban-1 seized power in Afghanistan | II. | 1900-01
C. |Islamic Revolution in Iran IIT. | 1942-43
D |Battle of Stalingrad V. |1979

Choose the correct answer from the options given below:

1. A-IV, B-III, C-II, D-I
2. A-IIL B-IV, C-I, D-II
3. A-1L B-1, C-IV, D-IIT

4. A-1, B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212312505 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e Hifoy

L. 1
A | HFRR faae I |1996
B | d aifeaH-1 T d S| 1| 1900-01
C. |3vH o sl @i 1L |1942-43
D. |ICHATS &1 g% V. | 1979
i< fau U [daedl § 9 Wt 3R &1 9 DIfSIT:

1. A-IV, B-111, C-II, D-I

2. A-III, B-1V, C-1, D-II

3. A-1l, B-1, C-IV-, D-III

4. A-1, B-11, C-1II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312506 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
Conferences Year
A | Tehran Conference I. 11935
B. |Bandung Conference II. |1943
C. |Pariz Peace Conference I | 1948
D |London 5ix Povwer Conference | IV | 1919

Choose the correct answer from the options given below:

1. A-IIL, B-1V, C-1, D-II
2. A-I1, B-1, C-IV, D-IIT
3. A-II, B-TV, C-11, D-1

4. A-1, B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212312506 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e HIfST |

A |dgvE 9ETH I |1955
B. |signoweH m [1943
c. |ufeg wifa gee 1. | 1948
D. |<ia 3¢ Wfeaal o gaH | IV. | 1919

A fSu U fasmedl § U 9gt 30 &1 994 DIoIu:

1. A-III, B-IV. C-1, D-II

2. A-1l, B-1, C-1V, D-III

3. A-III, B-1V, C-11, D-1

4. A-1, B-11, C-1II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312507 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LIST1I LISTII
Events Year
A | Soviet intervention in Afghanistan| I |2014
B. | 5ix-Day War II. |1979
C. | Operation Protective Edge ITI. |2001
D | Operation Eduring Freedom IV |1967

Choose the correct answer from the options given below:

1. A-IT, B-IV, C-1, D-III
2. A-1, B-II, CIII, D-IV
3. AL B-I, C-IV, D-I1

4. A-IV, B-III, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212312507 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1D 1Y JET 11 DT e HIfST |
I 11
= T
SE-EHE § gifgad gsau | L |2014
o [eadiugg I |1979
e Uicfeead id 1. |2001
HIOEHE T[T hied v | 1967
A f6u U f[dsedl § 9 Ig1 SR &1 994 DI

1. A-IL, B-IV, -1, D-IIT

ola|w|e

2. A-L, B-1I, C-IIL, D-1V
3. A-Ill, B-1, C-1V, D-I1

4. A-IV, B-111, C-1I, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

Organisation

LISTI LISTII
Events Year
A | The Balfour Declaration I 1973
B. |Israel defeated Egypt and Svyria in the Yom Kippur War II. |1978-79
C. | The Camp David Accords III. [ 1993-2000
D. Oslo Accords negotiated between Israsl and the Palestine Liberation v 1917

Choose the correct answer from the options given below:
1. A-I, B-IIL, C-IV, D-II
2. A-IV. B-1, C-1I, D-III
3. A-IL B-1, C-IV, D-II

4. A-1, B-1I, C-II1, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212312508 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1D 1Y JET 11 DT e HIfST |

A |SEHR 9y 1 |1973
B |TW fouqR g ¥ Sormge 4 O AR diftar o wfera fear | 10 | 1978-79
c. | & sfds gagiar 1. |1993-2000
D. |ZoREd AR e gfad W= & o il SHeid drdl | IV, | 1917

A feu U fadedl § § ¥g! 3R &l 994 DIl

1. A-I, B-1II, C-IV, D-II

2. A-1IV, B-1, C-11, D-III

3. A-Ill, B-1, C-1V, D-I1

4. A-1, B-11, C-1II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312509 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII
Facts about Africa Year
A | Seven vears of Civil War begun in the Democratic Republic of Cango | 1. | 1966
B. |Military overthrew Ghanian President Kwame Nulkrumah II. |1996
C. | Thomas Sankara Marxist leader of Burkina Faso assassinated in a coup | II1. | 1994
D. | Nelson Mandela became President of South Africa IV. | 1987

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-III, D-I
2. A-I, B-II, CIII, D-IV
3. A-IL B-1, C-IV, D-IIT

4. A-IIL, B-IL, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212312509 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e HIfST |

arﬁm;gﬂa{%ﬂaw qu'ﬁufu
A | B AiediE® TR § 9id auld fbfae aR UM I |1966
B. |91 % ApUic S JHH B U qeariee 1T |1996
C. |gxfa1 Wl & HreRiarel 3T UTeY &R &1 dledidae § g | 1L | 1994
D. |Fc8 Hea afémr sipler & apufd s IV. | 1987
i< fau U [dedl § 9§ Wt R &1 98- DIfSIU:

1. A-IV, B-11, C-III, D-I

2. A-L, B-1I, C-IIL, D-1V

3. AL B-1, C1V, D-TIT

4. A-III, B-11, C-1, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT
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LISTI LISTII
European Organisation Location
A | The European Commission I | Strasbourg
B. | The European Parliament II. |Brussels
C. | The European Court of Justice | III. |Frankfurt
D | The European Central Bank IV |Luxemburg

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-IV, B-III, C-1, D-IT
3. A-III, B-11, C-1, D-IV

4. A-1I, B-1, C-IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212312510 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1D 1Y JET 11 DT e HIfST |

A | Qg g (T sfFee) | Lo| e
B. |ZRIdiE dag I g8

C. | TR g 111 | e
D. | QR Y=d db IV. |cidasert

-1 QU 1T fashedl H# 9 gt SR &I 98 BT
. A-L, B-IL C-IIL D-IV
2. A-IV, B-1I1, C-1, D-II
3. A-IIL, B-II, C-1, D-IV

4. A-II, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
ICT Innovations Year
A | Invention of Television I 1957
B. | The Soviet Sputnik is launched | II. | 1894
C. | The Telephone is mmvented III. | 1928
D. | The Radio is invented IV. | 1876

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV, D-III
2. A-IV. B-1IIIL, C-1, D-II
3. AL B-1, C-IV, D-II

4. A-1, B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212312511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1D 1Y JET 11 DT e HIfST |

g @1 AR I |1957

I T @ WA | I [1894
TAIBE @ AAHR I | 1928
gt &1 enfaseR v. 1876

A fSu U fasedl § O 9gt 3 &1 994 DIfoIU:

1. A-II, B-1, C-IV, D-III

ola|w|e

b2

. A-IV, B-11I, C-1, D-1II
3. A-Ill, B-1, C-1V, D-I1

4. A-1, B-11, C-1II, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Wars Years
A |Russo-Japanese war I |1982
B. |Falkland Island War IT. |1950-33
C. |Japan invaded Manchuria | III. | 1904-03
D. |Korean War IV. | 1930

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. A-IIL B-IIL C-1, D-IV
3. A1 B-II, C-III, D-IV

4. A-111, B-1, C-1V, D-IT

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212312512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e HIfST |

th; %1‘;1'%11
A | =YL SIS g L |1982
B. |®Idds GU BTG 1 [1950-53
C. |STu & HYROT W §Ha | 11 | 1904-05
D. |®IREAgs V. [1930
4 fqu TTU fasedl # 9 "ol SR &1 99 BT

1. A-IV, B-1II. C-I, D-II

b2

. A-IL B-III, C-L, D-IV
3. A-L, B-II, C-IIL, D-IV

4. A-III, B-1, C-1V, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Authors Book
Joseph Stiglitz I. |Bananas, Beaches and Bases
Robert Keohane II. | Whither Socialism

Jean Belhke Elshtain | III. | International Institutions and State Power

Cynthia Enloe IV, | Public Man | Private Women

o|la|w|e

Choose the correct answer from the options given below:
1. A-IIL, B-IIIL. C-IV. D-I
2. A-1, B-II, C-III, D-1IV
3. A-IV, B-III, C-I, D-IT

4. A-IIT, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212312513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e HIfST |

= b
A T
G fEfded | L | 39F, d9d9 U8 9499

IEe e 1. |feser grafasa

1 ded UeRled | 1L | Sex-eHd Sxdieqey Us we Ul

aRmE = Iv. | ufsd® 84, Uigde e
A [Su U [ddhedl | 9 9t 3R &1 9949 HITSU:

1. A-II, B-III. C-IV, D-I

ola|w|e

2. A-L, B-1I, C-IIL, D-1V
3. A-IV, B-III, C-1, D-II

4. A-III, B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LIST1I LISTII
Major Nuclear Arms Control Agreements Year
A | Antarctic Treaty I 1963
B. |Limited Test Ban Treaty II. |1959
C. | Anti-Ballistic Missile Treaty IIT. | 2017
D | Treaty on the Prohibition on Nuclear Weapons | IV, | 1972

Choose the correct answer from the options given below:

1. AL B-11, C-I, D-IV

2. A-II, B-1, C-IV, D-IIT

3. A-IV, B-III, C-1, D-II

4. A-1, B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212312514 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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AT 1S 1Y &I 11 DT e HIfST |

a1 T I
THRE U] SR R §HEi G
Serbied HfY L |1963

Tterd wiamr ufqey Iy I |1959
c. |ud offes feEa gy | 0L 2017
D. |IRHBROR AUy € | 1V [1972

A fSu U fasmedl § U 9gt 30 &1 994 DIoIu:

1. A-IIL B-IL C-I, D-IV

w

2. A-1l, B-1, C-1V, D-III
3. A-IV, B-III, C-1, D-II

4. A-1, B-11, C-1II, D-1IV

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 342123490
Question Shuffling Allowed : No

Question Id : 34212312515 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Read the paragraph given below and answer the questions

WAR IN VIETNAM

From 1946 until 1954, the Vietnamese were fighting for independence from France. Indo-China
was occupled by Japanese during the war. Resistance to both Japanese and French was organized
by the League for Vietnamese Independence (Vietminh) led by the Communist Ho Chi Minh. He
had spent many vears in USSR learning how to organize revolutions. The Vietminh, though led
by Communists, was an alliance of all shades of political opinions that wanted an end to foreign
control. At the end of war in 1954, Ho Chi Minh declared the whole Vietnam independent when it
became clear that the French had no intention of allowing full independence, hostilities broke out,
beginning an eight year struggle which ended with the French defeat at Dien Bien Phu (May
1954).

The Vietminh were successful party because they were master of guerrilla tactics and had
massive support from Vietnamese people and because the French. still suffering from the after
affects of the World War, failed to send enough troops. The decisive factor was probably that
from 1950 the new Chinese communist government of Mao Zedong supplied the rebels with
arms and equipment.

Sub questions

Question Number : 141 Question Id : 34212312516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the period 1946 to 1954, the Vietnamese fought for independence against which of the
following country?

1. USA
2. France
3. China

4. UK
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who organised the resistance to Japanese and French in Vietnam from the 1946-1954?

1. The League of Nation

t2

. Communist Party of China
3. League for Vietnamese Independence

4. Mao Zedong

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did Ho Chi Minh spend many vears to learn how to organise revolution?

1. USSR

t2

.USA
3. France

4. UK
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212312519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eight vears of struggle by Vietminh led to ;

1. Defeat of Spain

b

. Defeat of Germany

LS

. Defeat of France

4. Defeat of the Phillipines

Options :
1.1
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2.2
3.3
4.4

Question Number : 145 Question Id : 34212312520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The French froces were defeated by Vietnam at

1. Hanoi

(]

. Hai phong
3. Saigon

4. Dien Bien Phu
Options :
1.1
2.2
3.3
4.4

Question Id : 34212312515 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

fraferRad Treri= o ey g9 ue SR gud Sid # AT MU Ml & SR &

fgaam o gs

aY 1946 Y 1954 AP (GG o o7 HIG U 3G Tl & el dS 38 41 & & oRM ga-
419 TR SIOTigT BT Heall 47| S AR B &l & (9% ufaiy sy g di fg &1
3[dTs H ol BR [qgd-rHis $feuad (faudfig) grT smifsrd faar mar1 3 Bifd &
UG- & AU guyuysR d &g ay TuR | g0 [9gdiig of srldrs de $3 g ¥ didd
faceit =01 &1 W d1g- dlell 8 IR B [aaRURIA &1 I Toaed o7 | 99 1954 §
& T g IR g1 91 g 9 9yv {9gd4™ & d=ar &l 99 &R ¢l 54 gg Wy gl T
fb ThTE BT YUl TSI &1 BT Bl S¥Gl Mol & dl FiUfd &1 715 2R 31S a8 BT JUY URH
1 T, Sl fSTA-9U-% H i ©1 R (H3 1954) & 1Y AT G311

fqgafg i $U 4 b 4 Fifd 9 TR GERS 0HIT H 901 4 3R 3 faga-E
AR T HIRT FHY o1 71 1Y Taie 89 & Ueld | [{%hd g1 Jifd 98 2l dd 9y g
& d1¢ & UHEl I IRd 41| Foiad SR GYaadr I8 ol fb ay 1950 T Al SSH & 4
A+ FRIFE IR A f[aaiedl B SRART 3R TSN $I MY B

Sub questions

Question Number : 141 Question Id : 34212312516 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1946 T 1954 B! fdle ¢ fagdqqm 4 Fgfcifad 4 9 foy 42 & 99 Wdadl & fdu gg |3
. guHy
TRl

[—

]

RS IC]
4.9%
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212312517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgdam H a9 1946-1954 SUIHAT 3R WIRRE! & f9%g ufcriy feu- maiferd faan -
1. G &N 316 =4=H

4. {3 SIS

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212312518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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hifd IS SR Hika & et gl =1 firg 4 &3 94 dgl TR
 JUATHSIR
. quyuy
3.5
8.0
Options :
1.1
2.2

3.3
4.4

—

f-2

Question Number : 144 Question Id : 34212312519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fageH & 316 991 o YTy BT GRUTH----——- el
. WA DI gR

2. STHAT B R
3. i I gR
4. Tty &1 R

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212312520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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CEGRIE AT R AL G R 7] 7] (—— o g T
EIE
NSER AR

L)

3. QIS
4. fsAfeEAE

Options :

1.1

2.2

3.3

4.4
Sub-Section Number : 3
Sub-Section Id : 342123491
Question Shuffling Allowed : No

f-2

Question Id : 34212312521 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Please read the below given Paragraph and answer the questions.

OPEN WAR AND DECEPTIVE WAR

In order to be strictly in accordance with Dharma the place and time of the battle must be
specified before hand. A king shall engage in open war when his army is superior, his

investigations have been successful, all precautions against dangers have been taken and the
terrain is suitable to him.

The king will use deceptive battles if above conditions are not satisfied. The enemy shall be
attacked when his forces are suffering from calamities, his forces are unprotected and he is on
less suitable terrain compared to attacker.

The enemy may be attacked even if he is on suitable terrain. provided that attacker has all
constituents of the state supporting him. In such a case the attacker will lure the enemy on to
unsuitable terrain pretending that his own forces have suffered a rout. He will first attack the
enemy using elephants and then attack with his own unbroken army.

Sub questions

Question Number : 146 Question Id : 34212312522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The place and time of battle must be specified before hand in accordance with:

1. Dharma

t2

. Adharma
3. Purana

4. Charvak
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A King shall engage in open war when:

1. His army is superior

f-2

. His army is inferior

L8]

. His army has been routed

4. Enemy army s in a defile

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A King shall engage in when his army is superior, his investigations have been successful.
all precautions against dangers have been taken and the terrain is suitable to him.

l. Diplomatic War

I

. Open War
3. Deceptive War

4, Secret War

Options :
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1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The king will use deceptive battle when the enemy forces are -

1. Suffering from calamities

]

. Well protected
3. On a high ground

4. More suitable terrain
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The enemy may be attacked even if he is on a suitable terrain, provided that:-

1. Attacker has no allies
2. Attacker has part of force deploved in jungles
3. Attacker has all the constituents of the state supporting him

4. Attacker has no constituents of the state supporting him

Options :
1.1
2.2
3.3
4.4

Question Id : 34212312521 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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$ugr A4 feU T IWRETE 9 ufer SR wHi &1 IR i |
g 3R Tegof g

el ol H 4 & 3% gH & U g @1 og SR WAy Ugd U fafféy g aifgu ) e I
Tl d81s § aUl do7 Sfd 3! U1 48R 81, 3D IH4d Ihd ol, Wd & Ufd gui gd
3UTg 1T 7T BT 2R 08T 3B 2P gl 3R Iuiad 1 quf el gidl & o I @ayu
Tz T | I R 9 AHA [HaT ST 5d 3! Y10 uereil ¥ 521 3e! of, 39d! I
SRRIE Bl 3R 98 SABHUDRI DI ol H & 3HHd e H gl T W IUD 3Hpd
ot | i T HUT [HaT S Ybhdl o.d%0d Aed & JH] gedh ATHHGRI & 994 | g1 39
T H SATHHUDRT -1 Y41 H YIGS & g o T bl Uiddd e H SN ST
98 Ugd SliYdl & IUTNT I T TR ShHU B (R 3O SRafSd U1 30 ST |

Sub questions

Question Number : 146 Question Id : 34212312522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

_______ & 3I¥Y g BT WM 3R Y Ugd Y iy g =gyl
L. oH

2. 3fYH

3. R0
4. didid

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212312523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U IS Gl g T T e
1. 39T TT AFR Tl

2. 3B AT HHR Bl
3. 3D YA H WS gl TS gl
4. YT B I A

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212312524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

LGRS o) S— ST iU ofd U] YT ¥R 81, 3UD IHUd Uhd ol T g, TR &
i O gd 3URI & felT 7T g1 3R 018 39d 3 Hd ol

1. peifdd g
2.gcll g

3. BAT g5

4. I 9%

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212312525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U SIq0l g H I TR SAIHHUT A {1 ST S IHDT T1T -
1. UG H SEIE Bl

2. gof RI&d Bl
3. 3 HGH A gl

4. A A H Bl

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212312526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y3 W dd Hi gHdT a1 51 Yehdl § & 9 3P IUI&H H 1, 930 h--oemem
1. ATHHUGR] BIs IgD ATl |
2. 3TPAUIGRI = YT BT Teb HITT Si7Tel | o1 fhan gl
3. T & GHI T AIHHUGRI & T H &
4. Bl Bl ged GHUA H 1 8l

Options :
1.1
2.2
3.3
4.4
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